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Name of the Candidate

Examination Name KVS PRT 22 FEB SH2
Exam Date & Time 22-02-2023 03:00:00

Subject : GE_Q01-Q10_PRT22FEBSH2

Question ID:- 151

ZEAL

Choose the word similar in meaning to the one given above.
(1) Truth

(2) Passion

(3) Love

(4) Wisdom
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

CONFIDENT

Choose the word opposite in meaning to the one given above.
(1) Wavering

(2) Obscure

(3) Woeful

(4) Martial

Options:-

=1, Option ID :- 605,
« 2, Option ID :- 606,
« 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

This child is a prodigy.

Identify the part of speech of the underlined word in the above sentence.

(I) Noun

(2) Verb

(3) Pronoun
(4) Adverb
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Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

The cat killed the rat.

Choose the option in which VOICE in the above sentence has been correctly changed into Passive
Voice.

(1) The rat has killed the cat.

(2) The rat had been killed by the cat.
(3) The rat has been killed by the cat.
(4) The rat was killed by the cat.

Options:-

«1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155

Lalita said, “Ram, where are you going ?”

Choose the option in which the above sentence has been correctly changed into Indirect Narration.
(1) Lalita told Ram that where was he going.

(2) Lalita enquired Ram where he was going.

(3) Lalita enquired of Ram where he was going ?

(4) Lalita asked Ram where he was going.

Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
= 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156
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In which option have the following jumbled words/phrases been formed into a meaningful and

(A) taught to think
(B) a school child
(C) for himself

(D) should be

(1) (A), (©), (B). (D)
(2 (B) (D) (A) (O
(3)  (©), D) (&), (B)
(4 (D), (A), (©), (B)
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

grammatically correct sentence ?

Question ID:- 157

Identify the part of the sentence given below that has an error in it.

Sunita said / thatshe / has passed / the test .

«1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
Answer Given:- 1, Option ID : -625

(a) (b) (©) (d)
(M (9
2 (d
(3) (a)
(4) (b
Options:-

Question ID:- 158

(1) a

(2) an

(3) the

(4) some
Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,

Fill in the blank in the following sentence by choosing the correct option out of the given ones.
My father is

M.L.A. from Varanasi.
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= 3, Option ID :- 631,

= 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

Fill in the blank in the following sentence by choosing the correct option out of the given ones.
The candle was by me.
(1) blown out

(2) blown up
(3) blown over
(4) blown into

Options:-

=1, Option ID :- 633,
= 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 2, Option ID : -634

Question ID:- 160

Fill in the blank in the following sentence by choosing the correct option out of the given ones.
The P.M. has many changes in the country.
(1) brought up

(2) brought into
(3) brought out
(4) brought about

Options:-

=1, Option ID :- 637,
» 2, Option ID :- 638,
« 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Subject : GH_Q11-Q20_PRT22FEBSH2

Question ID:- 161
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et fou TeneT st uget waifue sfea famen @t w=m wifa -

St foren wger § =fa-aa, wifea-aremn, qen fie & 9um 9ed T o S, g8 ot B e g 2 e
et e = sereeRa § fored =it ot Frmfon 21, W vtk o, 9fs foesfn &1 oiR 29 % g o
T wrwaed aF|

Tatel % SR o foR ol o ferwTae o el B it 2

(1) i =@

(2) af-fEm

(3) Fafed e

(4) e faskR™
Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

et fau TeneT st ugeht waifue sfea famen st w=m wifs -

St fren wye ¥ afe-aa, wied-mam, o fdg & 99 9ed TE o 9o, 98 ot #E e g ? e
et e 1 serereRa § fored =it ot Fmton 91, W vtk o2, 9fs fesfn &1 ol 29 % g o
T wrwaed aF|

e <1 % okl o =t gt = |
(1) eIt o7 HEE

(2) & TR wWEe

(3) wiftes vt s

(4) THe & HAM fa=ro &

Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163
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= fou TenyT it ueeR waities sfum fameu =t uwm FifeT -

Sit foren w § SfiE s, wifed-areH, 91 e o 99 Wed A6l ol Hehdl, 98 off @i Mg ?
uE foren =1 stevEesRa ¥ fowd =i & fmim @, amfas afe e, 9fs s @ o) 3o % g9 o
T WES e TH|

TN o STER feq =1 STavTE U E ¢
(1) =fE-ad

(2 Fie-=

(3)  SATHAMAHE

(4) ISRl
Options:-

=1, Option ID :- 649,
= 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

e fou TenyT i ugst waities sfed faehed w1 o= wifeg -

St fren wye ¥ afe-aa, wied-amam, o fdg & 99 9ed TE o 9o, 98 ot #E e g2 e
et e = serereRa § forad =it ot Fmton 91, W vtk o2, 9fs fesfn & oiR 29 % g o
T wrwaed aF|

Tfed e 9 ey @

(1) THU T EHHE HH H 9=
(2) THU H FEREE =1 w1 9E
(3) SHU = eIl =1’ FH W

(4) gH 1 wAfed w1 9@

Options:-

«1, Option ID :- 653,
= 2, Option ID :- 654,
» 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165
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e fou TenyT i uget gaities Sfed faehe st o3 wifag -

St foren wger § =fa-aa, wifea-aremn, qen fie & 9um 9ed T o S, g8 ot B e g 2 e
et e = sereeRa § fored =it ot Frmfon 21, W vtk o, 9fs foesfn &1 oiR 29 % g o
T wrwaed aF|

LR E R
(1) ¥ =H

(2) @R

(3) E

(4) TG
Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,

=« 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659

Question ID:- 166

e = wEErE v §
(1) eet
(2 FH<
(3) *E
(4) g
Options:-

=1, Option ID :- 661,
= 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167

ARIE Ve I ITEAT
(1) =d

(2) o

(3) @

(4) Tfei

Options:-

=1, Option ID :- 665,
= 2, Option ID :- 666,
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= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665

Question ID:- 168

‘e’ Vs w1 fadm B
(1) =y

(2) oTRIE

(3) TR

(4) form
Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 1, Option ID : -669

Question ID:- 169

(1) TRIFER
(2) TUSTHFR
(3) TIUHR
(4) TYFER

Options:-

=1, Option ID :- 673,
= 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170

e | fim v B

(1) =W

(2) o

(3) =S

(4) 3ty
Options:-

=1, Option ID :- 677,
= 2, Option ID :- 678,
= 3, Option ID :- 679,
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= 4, Option ID :- 680,
Answer Given:- 4, Option ID : -680

Subject : GA_Q21-Q30_PRT22FEBSH2

Question ID:- 171

Right to Free and Compulsory Education is guaranteed as a Fundamental Right by the Constitution
of India for which of the following categories ?

(1) All citizens of India

(2) All children upto the age of six years
(3)

(4)

All children of the age of six to fourteen years
All persons on the territory of India

YA o Wferem gr ford ol o fore f:3jeeh 31 21fam o1 & SR ol Uk Het SAfHRR o &9 H RS
qE 7?2

(1) T % |t A

) 69% TF I G & Hft g

3) 6H 14 94 TF i A & Gl =

4) A 9T W T Al qeft =t

(2
(c
(

Options:-

«1, Option ID :- 681,
= 2, Option ID :- 682,
« 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Which of the following battles resulted in a decisive victory of the British East India Company,
securing its early control over a substantial region of India ?

(1) Third Battle of Panipat
(2) Battle of Haldighati

(3) Battle of Plassey
(4)

4 First-Battle of Tarain

e & 9, i o 73 fafew S e st & forg we Foaes fasr wfed gen foed 397 g
AR H 9RE & T o2 A W e e famn ?
(1) T = T IS

(2) wERMERl H IS

(3) T TG

(4) TUSTHI IS
Options:-
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=1, Option ID :- 685,
= 2, Option ID :- 686,
= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

Which of the following was built to welcome the English Monarch-King George V, to India in
1911 ?

(1) Chourangee Lane in Calcutta

(2) Gateway of India in Bombay

(3) The Old Fort Ghat of Calcutta

(4) The White Town in Madras

79 1911 ¥, fafey v f&m os v & yrg | warE & fog, Aefatag 9 9 fege et femn = an?
(1) Al B S o

(2) S H Ted i gfed

(3) et H 3eE HI =2

(4) wEEH =EE TEA
Options:-

«1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

= 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

Which of the following determines the pitch of the sound ?
(1) Amplitude

(2) Frequency
(3) Speed
(4) Loudness

fr=fafaa 7 4, @ w=fh & w2 Fufor s 82
(1) 3™

(2) e
(3) Tfd
(4) J=l
Options:-

=1, Option ID :- 693,
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= 2, Option ID :- 694,
= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

Which of the following fuels has the highest calorific value ?
(1) Liquified Petroleum Gas (LPG)

(2) Compressed Natural Gas(CNG)
(3) Petrol

(4) Diesel

fr=afafad 7 9, form 39 =1 waifus seig A g2
(1) el Yeiferam 9 (e bs. )

(2) wifed wrpfas o (H.gAs)
(3) e
(4) i

Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
« 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

Assertion (A) : Sodium reacts vigorously with oxygen and water.

Reason (R) :  To prevent the contact of Phosphorus with atmospheric oxygen, it is stored in
water.

Select the correct option from the given alternatives :

(1) Both (A) and (R) are true, and (R) explains (A).

(2) Both (A) and (R) are true, but (R) does not explain (A).
(3) (A)is true and (R) is false.

(4) (A)is false and (R) is true.
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atfieRe™ (A) :  Hifedm, i iR Ut & W9 SR aiies | fafsran & €|

e (R) : TRIERRE % gHedd SiiadisH & |1 Hudh 2M ¥ e o fore 38 ot § Hufea fren
AT

fau Tu fasredi § | Wer fashcq &1 934 Hifau

(1) (A) dr(R) SFT T8 & G901 (R), (A) ! == T 2

(2) (A) 3R (R) F T2 ¥ fohg (R), (A) T ==& T8 HL T

(3) (A)F& 7 iR (R) T 2|

(4) (A) eI @ IR (R) WEl €|

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703

Question ID:- 177

Who won the 2022 IBSF World Billiards Championship at Kuala Lumpur in October 2022 ?
(1) Peter Gilchrist
(2) Pankaj Advani
(3) Sourav Kothari
(4)

4 David Causier

RIS, 2022 H Frel AR H AR 2022 o1 5. uH. U, fave faferdy Sftagaferg & fasm «e 22
(1) TR feafes
(2) US ATSATOH
(3) TR HER!
(4) Sfae =i
Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178
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Ramdarash Mishra was conferred the Saraswati Samman for the year 2021 for which of the
following books ?

(1) Samvet

(2) Sookhta Hua Talaab
(3) Mein To Yahan Hun
(4) Sukh-Dukh Ke Raag

el 9 1 2021 w1 HEEd FHE E € EfeiEa g o fog femn wn a1 ?

(1) HHad

(2) H@d1 g3 A

3) HTa=g

(49 FETEF
Options:-

=1, Option ID :- 709,
= 2, Option ID :- 710,
= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 4, Option ID : -712

Question ID:- 179

Who won the best Director award in the 53™ International Film Festival of India (IFFI), 2022 held
in Goa ?

(1) Dieter Berner

&)

)
(2) Nader Saeivar
(3) Vinay Shukla
(4) Ola Silverstein

T # ArifSE 53 9 i vy fhed geieqe | wa g FHewe 1 R Rl i g ?

(1) TEX aR

(2) HTeT HE

(3) ferra g

(4) lren faeerEA
Options:-

=1, Option ID :- 713,
= 2, Option ID :- 714,
= 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 4, Option ID : -716

Question ID:- 180
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When did the Government of India celebrate the “World Fisheries Day” ?
(1) 26 November 2022

(2) 21 November 2022

(3) 26 October 2022

(4) 1 October 2022

Yd FLFR g1 fava mifcereht feag’ wa 5mEr = ?
(1) 26 a7, 2022

(2) 21 F99=K, 2022
(3) 26 TR, 2022
(4) 1 SRR, 2022

Options:-

=1, Option ID :- 717,
« 2, Option ID :- 718,
= 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717

Subject : RA _Q31-Q35_PRT22FEBSH2

Question ID:- 181

How many even numbers are there in the following number sequence each of which is immediately
preceeded by an even number and is immediately succeeded by an odd number ?

42121421124441221214

(1) 4
2 5
(3) 3
@ 2

Tefafad gen #n § UH fral 99 gea 2 999 9 9 & UheH T8d 99 &1 8 3i) UheH 918 d
foawm den 1 2

42121421124441221214

(1) 4

(2
(3
(

(S5 I 7

4

(BS]

)
)
)

Options:-

=1, Option ID :- 721,
= 2, Option ID :- 722,
= 3, Option ID :- 723,
= 4, Option ID :- 724,
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Answer Given:- 1, Option ID : -721

Question ID:- 182

Mohit walks 15 metres South from his office to reach coffee shop. Then takes left and walks
25 metres to reach park. From there, he takes left and walks 50 metres to reach traffic signal. He
then takes left and walks 10 metres to reach his home. In which direction is his office from his

home ?

(1) North

(2) South

(3) North-West
(4) South-West

Tifed T HIE! F GHF T IgT * AU 3194 HEed | 15 HieX e &t o) gorar €1 i a8 e @ir
A S Uk g % fer 25 wex = €1 gul ¥ 9w 9 S gw ¥ o e faa wden W fan
50 X Jeran 81 fo g 9 @i suar @ @R a9 R sgee & forg 10 Hel =ed § | 9% R 9 3T
Fraea feg fam # 82

(1) =S

(2) =fgm

(3) IT-ufe=H

(4) <faor-afe=m
Options:-

=1, Option ID :- 725,
= 2, Option ID :- 726,
= 3, Option ID :- 727,

= 4, Option ID :- 728,
Answer Given:- 4, Option ID : -728

Question ID:- 183

Eight friends A, B, C, D, E, F, G and H are sitting around a circular table at an equal distance facing
away from the centre.

A and D are sitting opposite to each other. A is sitting third to the right of G. C is third to the left
of E and G is third to the right of E. B is second to the left of H. Who is sitting opposite to F ?

(1

I
@ T O

)
)
)
4)

(
(3
(
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#e f1 A, B,C, D, E, F, G 3R H U ghR HSl & 91 AR &5 H e &1 48 ik T9H g0 WS 2 |
ASRD TH-GH & I 93T I A, G o Tt IR i T WA E 1 C, “E % i i e w2 W 821

TAMG, 'E' % T SR AL TIF WSS €1 B, 'H’ % 9 371 T ¥ WS § 7
F % A9 & o931 2 2

(1) E
(2 G
(3) H
(4) B
Options:-

=1, Option ID :- 729,
= 2, Option ID :- 730,
= 3, Option ID :- 731,

= 4, Option ID :- 732,
Answer Given:- 1, Option ID : -729

Question ID:- 184

Given below is a question followed by two statements numbered (I) and (IT) each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

(Q) : Among five women A, B, C, D, and E, each with a different weight, who is the lightest ?
(I) : C is heavier than B but lighter than E.
(IT) : A is heavier than B but lighter than D.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient,

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient.

(3) Both statements (I) and (II) together are necessary to answer the question.
(4) Both statements (I) and (II) together are not sufficient to answer the question.

9 Wk wee T e € fower o € s (1) oFR (1) fou T & 59 € yoes § e SRl € T €1 S
o #ifs o 9 |1/8 F9A o %1 3w S & faw uaia 2/F )

g : 9" gl A, B, C, D 3R E § B S Teh-3Te 5o i &, FoRueh! oo Hol &1 & 2
&®UT (I): C,BH aifiyer g #1 2 fohg EY &9 o &1 €

HUT () : A B s g sl T g DY 9 5o #1 &

(1) R (1) STHe U9 H1 TR &7 & o0 vl € safe e (1) bl Tard 78 21

(2) R (II) SThel U9 1 3T &7 o [T TG ¥ Sielfeh shel (I) SFhel T -1l 2
(3) YA (I) 3R (1) ST THereR 999 1 3T 24  fou s Eeds €|

(4) U () 3R (1) S e 997 %1 3 &7 % forg vafa 78 2

Options:-

=1, Option ID :- 733,
= 2, Option ID :- 734,
« 3, Option ID :- 735,
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= 4, Option ID :- 736,
Answer Given:- 4, Option ID : -736

Question ID:- 185

In the diagram given below, circle E represents players, circle F represents singers, circle G represents
musicians and circle H represents dancers.

How many singers are musicians as well as dancers but not players ?

(1 1
2 2
(3 5
@4 7

9 fau U s H, g9 ‘B faentedi &1, g9 ‘F TEHi #, g9 ‘G’ GIderl i a9 99 ‘H’ Tl
yfafferea e & |

F

>
(e S
(3C)

H
1
2 2
(3) 5
4 7
Options:-

=1, Option ID :- 737,
= 2, Option ID :- 738,

« 3, Option ID :- 739,
https://kvsexam22feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0o=220412602... 17/89



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

= 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Subject : CL_Q36-Q40_PRT22FEBSH2

Question ID:- 186

Which of the following is a valid range in MS-Excel ?

(1) A2:GC5
2) Al x=C5
3) A2AC5
(4) Al1-A10

TH TH-UHe H ue fafumra S e @ 2

(1) -A2:CH
(2) Alx*Ch
(3) A2 NCh
(4) Al-A10
Options:-

=1, Option ID :- 741,
= 2, Option ID :- 742,
= 3, Option ID :- 743,

= 4, Option ID :- 744,
Answer Given:- 1, Option ID : -741

Question ID:- 187

Which of the following software is a utility software ?
(1) MS-Word

(2) Google Chrome
(3) Antivirus Software
(4) Media Player

Frefafed 9§ | & | diReas v gfefead] s 8 2

(1) T TE-=E

(2) T

(3) UEEE HiRAW

(4) Hifear =R
Options:-

=1, Option ID :- 745,
= 2, Option ID :- 746,
= 3, Option ID :- 747,

= 4, Option ID :- 748,
Answer Given:- 1, Option ID : -745
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Question ID:- 188

Identify the type of cyber threat that compromises a device like phone or tablet to install malware
on the device which seems to be a useful software.

(1) Spoofing

(2) Phishing
(3) Trojan horse
(4) Hacking

3 YT F Gree AU FI Y9 e fomd fadt ®F =0 29eie § U 39T giveas aamet fearsy
Y Hicaa T2 L foan < -
(1)

(2) Twiem
(3) geHEE
(4) @
Options:-

=1, Option ID :- 749,
= 2, Option ID :- 750,
= 3, Option ID :- 751,

= 4, Option ID :- 752,
Answer Given:- 4, Option ID : -752

Question ID:- 189

Which of the following key combination is used to move the cursor to the beginning of the previous

word ?

(1) Cul+T
(2) Ctrl+«
(3) Ctrl+—
(4)  Shift + ¢

el o€ o ARY H HH B AW F fIg H |1 RS g= o S g ?

(1) Ctul+T
(2) Ctrl+«
(3) Cul+—
(4) Shift+«
Options:-

=1, Option ID :- 753,
= 2, Option ID :- 754,
= 3, Option ID :- 755,

= 4, Option ID :- 756,
Answer Given:- 1, Option ID : -753
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Question ID:- 190

Sara used a magic key to toggle between typing characters in upper case and lower case. Can you
identify from the following this magic key ?

(1) Space

(2) Num Lock
(3) INSERT
(4) Caps Lock

HR 39 SN IS FH H Higed 2RY w34 & sig 2T FH & fau us Jfe-ht 1 997 S e
I 319 =9 HiSTeh—<h! i U89 T Gohd @ 7

(1) Space

(2) Num Lock

(3) INSERT

(4) Caps Lock
Options:-

=1, Option ID :- 757,
= 2, Option ID :- 758,
= 3, Option ID :- 759,

= 4, Option ID :- 760,
Answer Given:- 4, Option ID : -760

Subject : UL_Q41-Q55_PRT22FEBSH2

Question ID:- 191

Education described by ‘spenser” as
(1) Self Learning

(2) Preparation for Life
(3) Complete Living
(4) Meaningful Life

T+ oy =i ufteme forg w9 # € 77
(1) -y

(2) SfrEd = dad

(3) ot e frafe

(4) WedF S

Options:-

=1, Option ID :- 761,
= 2, Option ID :- 762,
= 3, Option ID :- 763,

= 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762
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Question ID:- 192

Who said “The widest Road Leading to the solution of all our problems is education” ?
(1) Kautilya

(2) Tagore
(3) Vivekananda
(4) Sri Arabindo

YR |t IHEnel & SHUE o ey = 9t foen g

35w fmae €2
(1) =ifeed

(2) W

(3) Taawrg

(4) o enfEd
Options:-

=1, Option ID :- 765,
= 2, Option ID :- 766,
= 3, Option ID :- 767,

= 4, Option ID :- 768,
Answer Given:- 3, Option ID : -767

Question ID:- 193

What is ‘Bala-vatika’ according to NEP 2020 ?

(1) Education received from age of 5 years to 10 years
(2) Education received in primary stage from class [ to V
(3) Education upto class VIII

(4) Education received from age of 3 - 5 years

T foven ifd, 2020 F AR ‘Srerarfes’ = E ?

(1) 599 ¥ 10 59 =1 g 9% g1 e

(2) H&T 1 | I 5 ek ol WIATHeR e

(3) &N 8 ek whi fRiam

(4) dAad | 5 9 dk i A I g

Options:-

=1, Option ID :- 769,
« 2, Option ID :- 770,
= 3, Option ID :- 771,

= 4, Option ID :- 772,
Answer Given:- 4, Option ID : -772

Question ID:- 194
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What is hidden curriculum ?

(1) Focus on informal gaining of values and beliefs

(2) Prescribed Learning outcomes
(3) Curriculum hidden in text books
(4) Prescribes formal syllabus

HYFE YISTFH 12 ?

(1) T $iR Ar=Iarad & SHe=Eis 9 i o2 o oo s
(2) fafea stform wfawe

(3) UISAYERI H TE5 YIS

(4) Tafed stiv=nfis weTFH

Options:-

=1, Option ID :- 773,
= 2, Option ID :- 774,
= 3, Option ID :- 775,

= 4, Option ID :- 776,
Answer Given:- 1, Option ID : -773

Question ID:- 195

Which Article of Constitution Provides facilities for instructions in mother tongue at Primary
Stage ?

(1) Article 29

(2) Article 239

(3) Article 51 (A)

(4) Article 350 (A)

Gfaum & g sr=e o wafts foen agum A fou s gt glasnsdi 3 ar & syey e T 8?2
(1) &AT=g 29

(2) ST=9% 239

(3) oTI=E 51 (%)

(4) 3198 350 ()

Options:-

«1, Option ID :- 777,

= 2, Option ID :- 778,

« 3, Option ID :- 779,

= 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Question ID:- 196

https://kvsexam22feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0o=220412602... 22/89


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

What is learning space in school ?

(1) Well set classroom with non-threatning environment

(2) Well ventilated classroom
(3) Comfortable Desks

(4) ICT tools in classroom
feremem & st T 221 2 2 2
(1)  vafEd Arelel § geaafed e
(2) 7= AWEH Jo HAT

(3) SINPRE SHh

(4) 1 H EHLI F IR
Options:-

=1, Option ID :- 781,
« 2, Option ID :- 782,
= 3, Option ID :- 783,

= 4, Option ID :- 784,
Answer Given:- 1, Option ID : -781

Question ID:- 197

In adolescent stage, what the boys and girls expect in the school ?

(1) Sympathy

(2) Empathy

(3) Co-operation

(4) Emotional support

Tereirrereen o oo 2R anfamnietl @ fammera 9 % e & g ?

(1) weEfd

(2 gy

(3) Hedm

(4) HAGAHE HEAN
Options:-

=1, Option ID :- 785,
= 2, Option ID :- 786,
= 3, Option ID :- 787,

= 4, Option ID :- 788,
Answer Given:- 4, Option ID : -788

Question ID:- 198
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falls under moral domain category.

(1) Feeling

(2) Responsibility

(3) Differentiating between Right and wrong
(4) Recognising

freifera § = Afes <a =t S0 ® S E 2

(1) s3fa
(2) =ifEE
(3) el IR e o fave
(4) TEEE FA
Options:-

=1, Option ID :- 789,
« 2, Option ID :- 790,
= 3, Option ID :- 791,

= 4, Option ID :- 792,
Answer Given:- 3, Option ID : -791

Question ID:- 199

The essential factors to promote Development task in childhood come under :
(1) Adaptability

(2) Environment
(3) Minimum Intelligence
(4) Physical Growth

e § fawm &l # 9wE <1 9 e FRE €

(1) SgFd

(2) gEE

(3) I i

(4) vHiR® fawm
Options:-

=1, Option ID :- 793,
= 2, Option ID :- 794,
= 3, Option ID :- 795,

= 4, Option ID :- 796,
Answer Given:- 2, Option ID : -794

Question ID:- 200
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What is maturation in child’s growth ?
(1) Interest

(2) Feelings

(3) Emotion

(4) Physical, Psychological and adaptive changes in child’s growth
e o fashE H aftoeed @ 8 2

(1) ==

(2 e

(3) Ham

(4) =Tersh o famm § wRifEs, TEemE R eEan qiEd
Options:-

=1, Option ID :- 797,
« 2, Option ID :- 798,
= 3, Option ID :- 799,

= 4, Option ID :- 800,
Answer Given:- 4, Option ID : -800

Question ID:- 201

The behaviourial trait in adolescent is
(1) Aggression

(2) Frustration

(3) Maladjustment

(4) Struggle with their identity
TeRgiRTereen § SAeera TR0 §
(1)  SATRTHHAT

(2) ®=dEn

(3) G:HHESH

(4) A9l Sifemar | Hey
Options:-

=1, Option ID :- 801,
= 2, Option ID :- 802,
= 3, Option ID :- 803,

= 4, Option ID :- 804,
Answer Given:- 4, Option ID : -804

Question ID:- 202
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What would empower the child in classroom in learning ?

(1) Construtivism

(2) Realism
(3) Connectivism
(4) Behaviourism,

fa=ifera § 9 =2 21firm o fau wan § 919 F TadiE § Qe BR 7

(1) TEER
(2) TUfER
(3) HHHARE
(4) THIEREE

Options:-

=1, Option ID :- 805,
« 2, Option ID :- 806,
= 3, Option ID :- 807,

= 4, Option ID :- 808,
Answer Given:- 1, Option ID : -805

Question ID:- 203

Feed back system in classroom is necessary for :
(1) Administrative requirement

(2) Self improvement of teachers and students
(3) To measure learning levels of students
(4) To understand Potential of teachers

ey § Wie o (wiayfe) wonelt i sevaes § 2
(1) wemEfT s1qan % fou

(2) reageh] SR feanfEl & o7en gur & fau
(3) Ternfel=i o sAferm w6 % HIOH % o

(4) STEATIHI I GHA A & foag

Options:-

=1, Option ID :- 809,
= 2, Option ID :- 810,
= 3, Option ID :- 811,

= 4, Option ID :- 812,
Answer Given:- 2, Option ID : -810

Question ID:- 204
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What do you understand the term ‘Pedagogy” ?

(I) Broad range of teaching methodology including assessment and instruction

(2) Execution of lesson plans
(3) Type of Learning activities
(4) Group of Teaching learning materials

‘ForemeTE ' U8 9 TIeRt ) A € 2

(1) e i e Tfed s1eams ugufa &1 =2 1o
(2) IS Al i @] o S

(3) @@ AferT HaH] HEFHA H THY

(4) ST SATTH HORET T

Options:-

=1, Option ID :- 813,
= 2, Option ID :- 814,
= 3, Option ID :- 815,

= 4, Option ID :- 816,
Answer Given:- 1, Option ID : -813

Question ID:- 205

Which one of the following activities could be the example for community learning ?
(1) Class room task

(2) Project based learning
(3) Experiment conducted in labs
(4) Oral questions by teacher

Frifer ® 9 =0 wEifas siferm & SereR B Hehd €2
(1) e = %

(2) fErsH s At

(3) wERTIE H o A g

(4) FEAYE BRI B T HifEH JeH
Options:-

=1, Option ID :- 817,
= 2, Option ID :- 818,
= 3, Option ID :- 819,

= 4, Option ID :- 820,
Answer Given:- 2, Option ID : -818

Subject : UTL_Q56-Q70_PRT22FEBSH2

Question ID:- 206
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According to NEP 2020, the structure/pattern of school education modified as :

(1) 5+3+3+4
(2) 10+2+3

(3) 5+5+2+3
(4) 8+2+2+3

e foren Hifd, 2020 % SHER fEmerh st v afasy Heifea § 3 w2

(1) 5+3+3+4
(2) 10+2+3
(3) B5+5+243
(4 8+2+2+3
Options:-

=1, Option ID :- 821,
= 2, Option ID :- 822,
= 3, Option ID :- 823,

= 4, Option ID :- 824,
Answer Given:- 1, Option ID : -821

Question ID:- 207

Among teachers and students which type of relationship enhances learning ?
(1) Cordial Relationship
(2) Official Relationship
(3) Social Relationship
(4)

4) Emotional Relationship

FeTTe] AR faenfel=i o ge7 forg v & ey 9 sferm o1 "ol g 22
(1) Hrery sy

(2) IMERE Hay
(3) HHIfSF Hey
(4) HAHF HaY
Options:-

=1, Option ID :- 825,
= 2, Option ID :- 826,
= 3, Option ID :- 827,

=« 4, Option ID :- 828,
Answer Given:- 1, Option ID : -825

Question ID:- 208
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Learning in classrooms enhances by :
(1) Useof AV. Aids

(2) Use of Black Boards
(3) Lecture method
(4) Questioning techique

wenedi § erfermm & faerrg fawifeg © 9 el S &2
(1) =7 ¥ 39HTU =l FAM

(2) =A% SIS FH ITAR

(3) A fafy

(4) Y= THAIE
Options:-

=1, Option ID :- 829,
« 2, Option ID :- 830,
= 3, Option ID :- 831,

= 4, Option ID :- 832,
Answer Given:- 4, Option ID : -832

Question ID:- 209

‘Phonology” in language development of the child refers to :

(1) Creating sounds of speech
(2) Using grammar

(3) Communication

(4) Understanding rules

TeTeh & weTe T A =R fagm’ freifea o 9 frug Heiftm 22
(1) @ = A ger

(2) AT GAN

(3) HYHm

(4) Tl =1 99z
Options:-

=1, Option ID :- 833,
= 2, Option ID :- 834,
« 3, Option ID :- 835,

= 4, Option ID :- 836,
Answer Given:- 1, Option ID : -833

Question ID:- 210
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Experiential learning is :

(1) Sports integrated Learning
(2) Hands on Learning

(3) Informal Learning
(4)

4)  Group Discussion mode of Learning

SVETHE ST T
(1) @l Thigd A

(2) BEE ST (TeH A @)

(3) STHM=IRE sy

(4) afirm =1 we | faust gsfa
Options:-

=1, Option ID :- 837,
=« 2, Option ID :- 838,
= 3, Option ID :- 839,

= 4, Option ID :- 840,
Answer Given:- 2, Option ID : -838

Question ID:- 211

What is the purpose of “DIKSHA" by ministry of education ?
(1) Operation Black Board

(2) Universalisation of Primary Education

(3) Digital Infrastructure resources
(4)

4 Free uniform and text books in primary children

Toren Hamera g0 wfqafen Sten =1 = gHeH & 2

(1) AR = =S

(2) Wi faen %1 e

(3) Tesflea sragv=n daEA

(4) wrafiyes foen & el & fore fayes gfwid @R ey g

2

Options:-

=1, Option ID :- 841,
= 2, Option ID :- 842,
= 3, Option ID :- 843,

= 4, Option ID :- 844,
Answer Given:- 3, Option ID : -843

Question ID:- 212
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What is urgent requirement in Primary Schools with respect to Learning process ?

(1) Foundational Literacy and Numercy
(2) Numerical aptitutde

(3) Critical thinking
(4)

4) Scientific temper

stferms Wi & See H mufaes foemeri § sfqard smavaswa #0 € ?
(1)  FfaE e sin d=mEE

(2) wifers e

(3) A=A T

(4) =T gtk

Options:-

=1, Option ID :- 845,
« 2, Option ID :- 846,
= 3, Option ID :- 847,

= 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

2

Question ID:- 213

What do you understand by ‘Informal Education” ?
(1) Education gained through various sources in life
(2) Education given in organised setup

(3) Education given in Primary section
(4)

4) Education gained in spiritual centres

ST foren | sTrae o aed § 2
(1) fEd | fafa= &di 9 g e
(2) Enfed GeE F ®H < TE faen
(3) Wit wmensti § <t v foran

(4) emeAcRes sl H U e
Options:-

=1, Option ID :- 849,
= 2, Option ID :- 850,
= 3, Option ID :- 851,

= 4, Option ID :- 852,
Answer Given:- 1, Option ID : -849

Question ID:- 214
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When the child is directly exposed to life situation the learning is called :
(1) Realistic Learning

(2) Natural Learning
(3) Connectivity Learning
(4) Experiential Learning

TE Heteh i Sitad i uifeatadl %1 yeas 9 fea S € 0 98 AT wE €
(1) AR Ay

(2) T@ETfaE (FEfiie) eAfm
(3) HHH AfTH
(4) SYERHE SAfEH

Options:-

=1, Option ID :- 853,
« 2, Option ID :- 854,
= 3, Option ID :- 855,

= 4, Option ID :- 856,
Answer Given:- 4, Option ID : -856

Question ID:- 215

What the child will be able to develop by visiting a forest ?
(1) Thinking ability

(2) Imagination power

(3) Self exploring capacity
(4)

4) Power of expression

T 1 S FH 9 Ferens § feifea § 9 @ fasmfaa g ?

(1) e e

(2) =HedAl v

(3) smed FAdaror arHal

(4) erfvEafe o1 am
Options:-

=1, Option ID :- 857,
= 2, Option ID :- 858,
= 3, Option ID :- 859,

= 4, Option ID :- 860,
Answer Given:- 3, Option ID : -859

Question ID:- 216
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What would affect learning in classroom ?
(1) Good time table

(2) Properly designed curriculum

(3) Good Principal
(4)

4 A.C. Classroom

Fa § At wenfas g

(1) 399 99 AR

(2) Tafeaa sifverfera qrea=ai 9
(3) IH yHHEERE 9

(4) aTTE o e H

Options:-

=1, Option ID :- 861,
« 2, Option ID :- 862,
= 3, Option ID :- 863,

= 4, Option ID :- 864,
Answer Given:- 1, Option ID : -861

Question ID:- 217

is associated with skill development.

(1) Emotional Domain
(2) Cognitive Domain

(3) Psychomotor Domain
(4) Affective Domain

fr=ifera § & == Fivre fasrm § weafia § 2
(1) wTEATTS &3

(2) HIAARHE &5

(3) TS &

(4)  TETHE &
Options:-

=1, Option ID :- 865,
= 2, Option ID :- 866,
= 3, Option ID :- 867,

= 4, Option ID :- 868,
Answer Given:- 3, Option ID : -867

Question ID:- 218
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The meaning of learning is :

(1) Manipulation of circumstances

(2) Positive altered behaviour
(3) Achieving high academic excellance
(4) Gaining knowledge
sferm § fuda © -
(1) oftfeatadi = se@sm
(2) HHNHSF UiEfdd ZEER
(3) oA derforr IRl yTe
(4) FETIE
Options:-

=1, Option ID :- 869,
= 2, Option ID :- 870,
= 3, Option ID :- 871,

= 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219

Purpose of curriculum in school is :
(1) To conduct examination timely
(2) To complete syllabus in time
(3) To standardize learning goals
(4)

4) To achieve instructional objectives

Toamem o o=l = wEeE §
(1) |93 9T & SIS
(2) HHE W USHRH T FE

(3) AferTH % A%l 1 HHHIHT
(4) TR SeEdl w9
Options:-

=1, Option ID :- 873,
= 2, Option ID :- 874,
« 3, Option ID :- 875,

= 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220
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Environment is an element of :
(1) Connectivism
Realism

4

(2)
(3) Behaviourism
(4) Consftructivism

THER (HEE) freifea 3 9 e am g 2

(1) THaaE
(2) AeqefETE
(3) SHAERAIG
(4) TEAER

Options:-

=1, Option ID :- 877,
« 2, Option ID :- 878,
= 3, Option ID :- 879,

= 4, Option ID :- 880,
Answer Given:- 2, Option ID : -878

Subject : CCLE_Q71-Q80_PRT22FEBSH2

Question ID:- 221

What is learning disability ?

(1) Autism

(2) Dysgrophia
(3) Dyscalcula
(4) Dyslexia

sty v = R ?

(1) siifesH

(2) Teumiw

(3) Teasmogan

(4) Teuaifega
Options:-

=1, Option ID :- 881,
=« 2, Option ID :- 882,
= 3, Option ID :- 883,

= 4, Option ID :- 884,
Answer Given:- 4, Option ID : -884

Question ID:- 222
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The common mental disorder in the school is :
(1) Behaviourial Disorder

(2) Social Disorder

(3) Anxiety Disorder

(4)

4)  Sensory Disorder

T § g qrfeew fasr @
(1) =HgerHF fasr

(2) IS fawr

(3) feEa fan

(4) Haar fasr
Options:-

=1, Option ID :- 885,
« 2, Option ID :- 886,
= 3, Option ID :- 887,

= 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

‘Manodarpan’ Scheme is introduced by :

(1) Ministry of Health and Family welfare
(2) Ministry of Education

(3) Ministry of Civil aviation

(4) Ministry of Agriculture

‘e’ TR fREE B YE Wi TR © 2
1) TR S YRER Hedm g3

) Toren gare

3) AR fauEA HAeE

) i G

Options:-

=1, Option ID :- 889,

= 2, Option ID :- 890,

= 3, Option ID :- 891,

= 4, Option ID :- 892,
Answer Given:- 2, Option ID : -890

Question ID:- 224
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How would you identify intellectual disability in classroom ?

(1) Restlessness

(2) Maladjustment

(3) Poor Comprehension
(4) Lonliness

A el H dAifgs .99 3 wwwE FH a2

(1) =9t

(2) G:HERSH

(3) 159 HHA

(4)  STRETIH
Options:-

=1, Option ID :- 893,
= 2, Option ID :- 894,
= 3, Option ID :- 895,

= 4, Option ID :- 896,
Answer Given:- 1, Option ID : -893

Question ID:- 225

Which step would form intervention for Divyangjan ?
(1) Assess and assist

(2) Physical support
(3) Physical theropy
(4) Emotional support

freifera 9 4 fore 3u =01 fesaimsm % faw wga foan s aean €2
(1) e AR TeEe

(2) VI Hedn

(3) wifEs fafewma

(4) HAEAHE FIAN
Options:-

=1, Option ID :- 897,
= 2, Option ID :- 898,
= 3, Option ID :- 899,

= 4, Option ID :- 900,
Answer Given:- 1, Option ID : -897

Question ID:- 226
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What the school should do to address mental health issues ?
(1) Counselling

(2) Medical intervention
(3) Integrating social emotional learning
(4) Frequent interaction with parents

HHfEe e i gaene] § fged & fou @pa i wTE 9en ?
(1) Tt

(2)
(3) HTHINSE HerTeHsh AATeRTH 1 T
(4) AfTER % WY TR AR

2

Options:-

=1, Option ID :- 901,
« 2, Option ID :- 902,
= 3, Option ID :- 903,

= 4, Option ID :- 904,
Answer Given:- 1, Option ID : -901

Question ID:- 227

What is the role of parent to address mental health issues among children ?
(1) Parents should have awareness on adolescent issues.

(2) Spend quality of time with adolescent enjoying shared activities
(3) Medical intervention
(4) Appointing counsellors at home.

AT ] TR Heel wrensii & fare § sfives #1 Fn yfw 82

(1)  wra-Toar =l fereiEeen Hedl Faensii & a9 o JHahr 2l =1 |

(2) ToRIR-—aTeTehl & |19 WA FREGATY H [UERTRS THY Hdld S =il |
(3) Taferedia 3T=m )

(4) =R gymEErE S i

Options:-

=1, Option ID :- 905,
= 2, Option ID :- 906,
= 3, Option ID :- 907,

= 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228
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Which one of the following is severe mental disorder ?
(1) Schizophrenia

(2) Depression

(3) Anxiety

(4) Bipolar disorder.

Freifera H & P iR e faer 7
(1) TositRfn

Options:-

=1, Option ID :- 909,
=« 2, Option ID :- 910,
= 3, Option ID :- 911,

= 4, Option ID :- 912,
Answer Given:- 4, Option ID : -912

Question ID:- 229

What could be the root cause of mental illness among school children ?
(1) Peer behaviour

(2) Heridity and psychological stress

(3) Nutrition

(4) Home atmosphere

=

Thel! s | A B0 6 o HE A 8 Hhdl § 2
(1) EHH&

(2) SAERERT SR FAETER qE
(3)

(4) =R okl SRR

Options:-

=1, Option ID :- 913,

= 2, Option ID :- 914,

= 3, Option ID :- 915,

= 4, Option ID :- 916,
Answer Given:- 4, Option ID : -916

Question ID:- 230
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Why Community is an important teaching and learning centre ?
(1) Substitute to school

(2) Informal learning source
(3) Provides learning opportunities in real settings
(4) Extension of school activities

frifera ® 9 fore FRUEY SRR UF 9ol S-S % ol © 7
(1) 98 e =1 fasweq €1

(2) eETTEIREE ST i |
(3)
(4)

Y sffereRal o1 arfas gftfefa § =& 33 &1 s1agr fiem 21
7g Tl nfafafer #1 fawar €1

Options:-

=1, Option ID :- 917,
« 2, Option ID :- 918,
= 3, Option ID :- 919,

= 4, Option ID :- 920,
Answer Given:- 4, Option ID : -920

Subject : SOL_Q81-Q90_PRT22FEBSH2

Question ID:- 231

The foremost important quality of a school leader is :
(1) Conviction

(2) Co-operation
(3) Qualification
(4) Aggression
THEl o ] e Ygel HeeyY 9 ¥
(1) T2 Hehey
(2) EEAm
(3) FrIa
(4)  SATShTHAT
Options:-

=1, Option ID :- 921,
= 2, Option ID :- 922,
= 3, Option ID :- 923,

= 4, Option ID :- 924,
Answer Given:- 2, Option ID : -922

Question ID:- 232
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The bad quality of a leader is :
(1) Flexibility

(2) Accountability
(3) Positive attitude
(4) pessimism
A1 T A B

(1) w=ers

2) SEEeE

Options:-

=1, Option ID :- 925,
= 2, Option ID :- 926,
= 3, Option ID :- 927,

= 4, Option ID :- 928,
Answer Given:- 4, Option ID : -928

Question ID:- 233

According to the idea of Transformational leadership an effective leader :

(1) motivates and inspires people.

(2) set the pace for their own organization.

(3) provides General direction and tools for goal achievement.
(4) coaches a person to realise his potential.

YT Tl o FARER] Tged Haed foEn % ST7EN, wWE T

(1) ©ri = enfmfea o) T e €

(2) 9N =F & " &t fq FHuifa & g

(3) @& i Wit % ferw T fAder Sa1 § SR SUsT 3 A €
(4) oA I ST &FAT 1 S8 G 6 g wfrfara e g

2

Options:-

=1, Option ID :- 929,
« 2, Option ID :- 930,
« 3, Option ID :- 931,

= 4, Option ID :- 932,
Answer Given:- 4, Option ID : -932

Question ID:- 234
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What is the role of “NCTE’ in school Education ?
(1) To conduct Training programmes for teaching

(2) To maintain standards in Teacher Education
(3) To recruit teachers
(4) To see the welfare of teachers

=

e foan § ‘Tt sremmaes foan afteg w6 @ fiem €2

(1) eI = forg gfereron HreiskHi =1 s |
(2) 37T e § AR R ST T |

(3)  SEATIEHI hl Wil HEA|

(4) STEATIHI o FHEAIN Sl GG |

Options:-

=1, Option ID :- 933,
« 2, Option ID :- 934,
= 3, Option ID :- 935,

= 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

Question ID:- 235

Which one of the following can’t be a nature of leader ?
(1) Accountability

(2) Honesty and integrity
(3) Lack of self confidence
(4) Confidence

Frifera & | =00 S i Wl e 2 Hehell € 7

(1) S
(2) BHFERT SR Heafeer
(3) e favary i &
(4) favams

Options:-

=1, Option ID :- 937,
= 2, Option ID :- 938,
= 3, Option ID :- 939,

= 4, Option ID :- 940,
Answer Given:- 3, Option ID : -939

Question ID:- 236
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The key phrase of Authoritative Leadership is :

(1) Let me teach you how it is done.

(2) Lets dream big and set standards.
(3) I will give you the tools and autonomy to execute.
(4) 1direct, you follow.

HETe] e | HAavd g Tea fefdfed § | wE /e
(1) H TRt Fam § 5 T8 59 R Sian g

(2) ®HEE W ed R wHk i wi)

(3) H wruehl T Foie % forT |ieA SR W g
(4) H w3, 39 SHH ST |

Options:-

=1, Option ID :- 941,
= 2, Option ID :- 942,
= 3, Option ID :- 943,

= 4, Option ID :- 944,
Answer Given:- 4, Option ID : -944

Question ID:- 237

The role of Headmaster as an academician 1is :
(1) Supervision of school

(2) To provide Academic and Administrative Leadership
(3) Bridge between student and management
(4) To act as a mediator between students and teachers

fonenfag & w0 | yemmeaTE @ Jf e §

(1) Temrme =1 gdag |

(2) SrEfoER AT gATEE 9o YeH |

(3) Srerforer iR geiUE o Hem Hg % ®Y H w1 HE

(4) Toeneff oiR s1eamves o WeH ARy % Y H %A B |

2

Options:-

=1, Option ID :- 945,
= 2, Option ID :- 946,
= 3, Option ID :- 947,

= 4, Option ID :- 948,
Answer Given:- 2, Option ID : -946

Question ID:- 238
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Which Leadership exercise a minimum control :

(1) Authoritarian leadership

(2) Demacratic leadership

(3) Personality Attributes of leadership
(4)

4 Laissez Faire leadership

Freifera ® 9§ for w9 | =g e g 2

(1) HAEE g

(2) ErRdIEE g

(3) SAfFde H Aged o 0T

(4) STRW&T Ag
Options:-

=1, Option ID :- 949,
« 2, Option ID :- 950,
= 3, Option ID :- 951,

= 4, Option ID :- 952,
Answer Given:- 4, Option ID : -952

Question ID:- 239

For making proper planning the headmaster has to take the help of :
(1) Local authorities

(2) Pupils, teachers and parents
(3) School management
(4) District Collector

T fea s fafo % fau garmeres i fraet gemm ot € 2

(1) T qiieERTE =l
(2) Torsg, speamgeRTY SR AfqYEeR]
(3) Tomme™ yeE =i
(4) TSTeT SHets= &l
Options:-

=1, Option ID :- 953,
= 2, Option ID :- 954,
= 3, Option ID :- 955,

= 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240
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What in the main function of School Assembly g

(1) To promote self-discipline among children

(2) To communicate school information
(3) To organize cultural activities

(4) To take attendance

e ST 1 e e R 2

(1) =Tefehi H SATcH-STTIHA I =gl &1
(2) EhA it I H HYO

(3) HiEHldeh A H AN

(4) Sufefa &S Fo
Options:-

=1, Option ID :- 957,
=« 2, Option ID :- 958,
= 3, Option ID :- 959,

= 4, Option ID :- 960,
Answer Given:- 1, Option ID : -957

Subject : PE_Q91-Q100_PRT22FEBSH2

Question ID:- 241

Non availability of Professional counselors in school may lead to :
(1) increasing mental illness among children

(2) low level of motivation

(3) decreasing interest on studies

(4

less participation of co~curricular activities

el H eI WHEEars| i SIeTedl  Hesey #1 2 Hehdl ©

(1) eThl | AFAfHE S0 o Tl ¢

(2)  SIFUR0 T T B9 B Wl ¢ |

(3) UerE H %9 wH B Tkl 7|

(4) OrSEERHT Afafafe § w6 awieRt 8 e ¢
Options:-

=1, Option ID :- 961,
« 2, Option ID :- 962,
= 3, Option ID :- 963,

= 4, Option ID :- 964,
Answer Given:- 1, Option ID : -961

Question ID:- 242
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The NEP 2020 has replaced
(1) NEP 1968

(2) NCF 2005
(3) NPE 1986
(4) POA 1992

Tr=ifera o | former oM W Ui foen 9, 2020 =€ © ¢

(1) UAEdT 1968

(2) TAHITE 2005

(3) IS 1986

(4) 3T 1992
Options:-

=1, Option ID :- 965,
« 2, Option ID :- 966,
= 3, Option ID :- 967,

= 4, Option ID :- 968,
Answer Given:- 3, Option ID : -967

Question ID:- 243

NEP 2020 Emphasized on which one of the following to facilitate learning among socio -
economically disadvantaged group :

(1) Special schools

(2) Eklavya schools

(3) Model schools

(4) ODL(Open and Distance Learning)

T foren Aitfa, 2020 H wifen SR s w9 ¥ dfaq we | siftrm &1 ge@n &7 % fou freifea 8 9
Top o 5T fean T 8 2

(1) fodm =g
(2) THAA faemea
(3) eyl foamme™

(4) T IR g sifermm

Options:-

«1, Option ID :- 969,
= 2, Option ID :- 970,
= 3, Option ID :- 971,

= 4, Option ID :- 972,
Answer Given:- 1, Option ID : -969

Question ID:- 244
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NEP stands for :
(1) New Education Policy

(2) National Educational Program
(3) National Education Policy
(4) Naya Education Program

(1) = TSR gifert

(2) YA TTHIA R
(3) TUHEA UShe diferdl
(4) I THIA T
Options:-

=1, Option ID :- 973,

= 2, Option ID :- 974,

= 3, Option ID :- 975,

= 4, Option ID :- 976,
Answer Given:- 1, Option ID : -973

GET IT ON
Google Play

Question ID:- 245

NEP 2020 mainly emphasized in primary Education :
(1) Reading, writing and arithmetic

(2) Foundational Literacy and numeracy
(3) Understanding their mother tongue only
(4) Functional Literacy and numeracy

(1) 9, T SR FHira

(2) HAY &R SR H@ASi FH T
(3)  STYT HIGHIHT =Rl & HH

(4) '
Options:-

=1, Option ID :- 977,

= 2, Option ID :- 978,

= 3, Option ID :- 979,

= 4, Option ID :- 980,
Answer Given:- 2, Option ID : -978

Tt foven +ifd, 2020 ¥ g et faan | fhy w9 fem e

Question ID:- 246
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As per RTE Act, 2009 minimum number of working hours per week for teacher is :

(1) 45
(2) 42
(3) 41
(4) 40

Toreqr =1 safeep sifafTam, 2000 3 SER S=ames & fau afa gwe =Aan e 5e & sty e

fopan T &2
(1) 45 =
(2) 42742
(3) 41
(4) 40 =2
Options:-

=1, Option ID :- 981,
= 2, Option ID :- 982,
= 3, Option ID :- 983,

= 4, Option ID :- 984,
Answer Given:- 1, Option ID : -981

Question ID:- 247

As per RTE Act 2009, no detention Policy is up to Class.
(1) 8th
(2) 9th
(3) 7th
(4) 6th

Toneq =1 saferp sifufem, 2000 # ‘R wfody 7= (1 feewm wifewdt) foe wvan o @ & 2

(1) 8
(2) 94
(3) 7di
(4) 63l
Options:-

=1, Option ID :- 985,
= 2, Option ID :- 986,
« 3, Option ID :- 987,

= 4, Option ID :- 988,
Answer Given:- 1, Option ID : -985

Question ID:- 248
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Which section of RTE Act, 2009 deals with qualifications for appointment and terms conditions of
service of teachers

(1) Sec 22
(2) Sec 23
(3) Sec 24
(4) Sec 25

e &1 stfereRr sifufem, 2009 #t T umr ® eremmuert 1 fgfad ofR Jamvml @ Seerd ¢

(1) =/ 22
(2) H©RT23
(3) ©NT24
(4) HRI25

Options:-

=1, Option ID :- 989,
= 2, Option ID :- 990,
= 3, Option ID :- 991,

= 4, Option ID :- 992,
Answer Given:- 3, Option ID : -991

Question ID:- 249

As per section 3 of RTE Act, 2009 the school should not reject admission for children in the age
group of

(1) 3 to5 years

(2) 8 to 14 years
(3) 6 to14 years
(4)

4) 9 to 12 years

Torer =1 stfeepr safafam, 2009 1 910 3 % 3ER, fa=em w1 f=ifea § 9 fFg 99 &7 & deshl &6
T o 9oy 1&g A8l & =1en ?

(1) 3959
(2) 89 149d
(3) 6dH149Y
(4 9FI129d
Options:-

«1, Option ID :- 993,
= 2, Option ID :- 994,
= 3, Option ID :- 995,

= 4, Option ID :- 996,
Answer Given:- 3, Option ID : -995
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Question ID:- 250

As per RTE Act, 2009 private schools also shall admit children belonging to weaker section in class

Iis

(1) 10%
(2) 15%
(3) 20%
(4 25%

Torer =1 st sifafram, 2009 % SA79R Rl fommerml & fag ot 3uey € foF 3 Fe-1 5 F9er o
STAHT ol G S TH FHHSR a0 o aerehl o 9o 1 gfawa g Fuifa e w2

(1) 10%
(2) 15%
(3) 20%
(4) 25%

Options:-

=1, Option ID :- 997,
= 2, Option ID :- 998,
= 3, Option ID :- 999,

= 4, Option ID :- 1000,
Answer Given:- 4, Option ID : -1000

Subject : HINDI_Q101-Q120_PRT22FEBSH2

Question ID:- 251

f=fafaa § ‘9’ 99 = S=9 =IH #

(1) #a
(2) deTd
(3) WH=
(4 =
Options:-

=1, Option ID :- 1001,
=« 2, Option ID :- 1002,
= 3, Option ID :- 1003,

= 4, Option ID :- 1004,
Answer Given:- 2, Option ID : -1002

Question ID:- 252

https://kvsexam22feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0o=220412602...  50/89


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Frefafad | | &F- v Sifderaes d31 9% T8 © 2

(1) 99
(2) =
3) Tt
(4) FHRT
Options:-

=1, Option ID :- 1005,
= 2, Option ID :- 1006,
= 3, Option ID :- 1007,

= 4, Option ID :- 1008,
Answer Given:- 4, Option ID : -1008

Question ID:- 253

Freafafaa § § ¥ iR fagor &t gfie & #F-91 v 3 e/ 82

(1) 39 - 59aiA

(2) TSl - Fele]

(3) F - FelH

(4) SFHE - FAE
Options:-

=1, Option ID :- 1009,
= 2, Option ID :- 1010,
= 3, Option ID :- 1011,

= 4, Option ID :- 1012,
Answer Given:- 4, Option ID : -1012

Question ID:- 254

frefafas & aga= =t gfe ¥ FA- w=2-77 98 78 § 2

(1) 2t - e
(2) e - wifeAl
(3) 49— =i
(4) TISH - ASH
Options:-

=1, Option ID :- 1013,
= 2, Option ID :- 1014,
= 3, Option ID :- 1015,

= 4, Option ID :- 1016,
Answer Given:- 3, Option ID : -1015

Question ID:- 255
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Trfafad 5 s faam o g™ 2
(1) &g -zfa

(2) @AeAfd - 3

(3) WfaF - TS

(4) AIfd - a1
Options:-

=1, Option ID :- 1017,
= 2, Option ID :- 1018,
= 3, Option ID :- 1019,

« 4, Option ID :- 1020,
Answer Given:- 3, Option ID : -1019

Question ID:- 256

frefafad 7 s/ wafar e 79§ -
() §d - iyt

(2) A - HAH

(3) TH8 - &l

(4) S - 3FA

Options:-

=1, Option ID :- 1021,
= 2, Option ID :- 1022,
= 3, Option ID :- 1023,

= 4, Option ID :- 1024,
Answer Given:- 4, Option ID : -1024

Question ID:- 257
gl F o ften 1 gfe | &M 91 wsg g9 315 § 2
(1) 91— Ffem

(2) Herl - FR
(3) @ -
(4) Hel - e
Options:-

=1, Option ID :- 1025,
= 2, Option ID :- 1026,
= 3, Option ID :- 1027,

= 4, Option ID :- 1028,
Answer Given:- 4, Option ID : -1028

Question ID:- 258
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Freferfas & wede o amen g 78 §
(1) i 93 &)

(2)  HH A

(3) fourEt 3 <9r #1 gwe

(4) ISH EA@TI

Options:-

=1, Option ID :- 1029,
= 2, Option ID :- 1030,
= 3, Option ID :- 1031,

« 4, Option ID :- 1032,
Answer Given:- 4, Option ID : -1032

Question ID:- 259

Frfafad wr ot &R fagd #i gfie 9 FiF-91 wss I s § 2

(1) -

(2) = -H

(3) HAfHHTT -

(4) SURH- ¥
Options:-

=1, Option ID :- 1033,
= 2, Option ID :- 1034,
= 3, Option ID :- 1035,

= 4, Option ID :- 1036,
Answer Given:- 3, Option ID : -1035

Question ID:- 260

frefafas § =7 @ gen-den T8 99 #i gfe ¥ 92 76 §2
(1) 263456 - & @FE fiHe TR =) & goF

(2) 263465 - B @M fiwe ok 9”4t Tae
(3) 236468 - T TR THUY TR =X H 3123
(4) 236611 - B @G BHH TR B8 Gl AR

Options:-

=1, Option ID :- 1037,
= 2, Option ID :- 1038,
= 3, Option ID :- 1039,

= 4, Option ID :- 1040,
Answer Given:- 4, Option ID : -1040

Question ID:- 261
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e 91 TR WY, U 2 @ & e

<@ H &H 9= i & WE, o1 98 o u w=

o dfeat fafem’ 5 g % g ore § oft T # 2
(1) TedramE

(2) 7% SR =l

(3) U I i

(4) =TS S SH W

Options:-

=1, Option ID :- 1041,
= 2, Option ID :- 1042,
= 3, Option ID :- 1043,

= 4, Option ID :- 1044,
Answer Given:- 3, Option ID : -1043

Question ID:- 262

‘gl =er 9e W e % SUR YT gy fh wely T 9 |=n ?

(1) =g 9 S

(2) RS M

(3) @M YR

(4) e | Il HA
Options:-

=1, Option ID :- 1045,
= 2, Option ID :- 1046,
= 3, Option ID :- 1047,

= 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

Options:-

=1, Option ID :- 1049,
= 2, Option ID :- 1050,
« 3, Option ID :- 1051,

= 4, Option ID :- 1052,
Answer Given:- 2, Option ID : -1050
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Question ID:- 264

AMHeTTg H A | S ol SRR % A B

(1) dre
(2) o
(3) =gk
(4 UEd
Options:-

=1, Option ID :- 1053,
= 2, Option ID :- 1054,
« 3, Option ID :- 1055,

= 4, Option ID :- 1056,
Answer Given:- 2, Option ID : -1054

Question ID:- 265

‘g SR e e 37 F TR e | gt U E 2

(1) de-die

(2) Teufewan

(3) TH W

(4) =g ATl s
Options:-

=1, Option ID :- 1057,
= 2, Option ID :- 1058,
=« 3, Option ID :- 1059,

= 4, Option ID :- 1060,
Answer Given:- 2, Option ID : -1058

Question ID:- 266

UM &1 9 foh 98 § fofon 0 § 2
(1) = 5e T

(2) = AR

(3) foedt = 9w

(4) T T F A@H

Options:-

=1, Option ID :- 1061,
= 2, Option ID :- 1062,
« 3, Option ID :- 1063,

= 4, Option ID :- 1064,
Answer Given:- 1, Option ID : -1061

Question ID:- 267
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‘g &t ufen S U % ouR W SaEd fE ufen FE % Wy T geE § Y uge ?

(1) e =l 7eg |

(2) 3ifad =i Heg |

(3) 79 W I HEg H
(4) LT T AT F HES

Options:-

=1, Option ID :- 1065,
= 2, Option ID :- 1066,
» 3, Option ID :- 1067,

= 4, Option ID :- 1068,
Answer Given:- 2, Option ID : -1066

Question ID:- 268

"TTETS W HE A & I T fhE YR & WA | 2

(1) TrragamEs w&bdam

(2) eAfTT=EETES HAAH

(3) TrstEr=s® wEH

(4) HYFATER HeAAH
Options:-

=1, Option ID :- 1069,
= 2, Option ID :- 1070,
= 3, Option ID :- 1071,

= 4, Option ID :- 1072,
Answer Given:- 2, Option ID : -1070

Question ID:- 269

‘T 1 fegm’ Fert § weat § wfafed Rl wun 39 Tifud 95, mEReH o Hee % geee | @
& - T fred wen?

(1) TSN+ -w: 49

(2) HA A -

(3) S AR - TN H
(4) HAEHA - TS
Options:-

=1, Option ID :- 1073,
= 2, Option ID :- 1074,
= 3, Option ID :- 1075,

= 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270
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(1) F+F+TATT+ T
(2) A+F+AAXT+ T
(3) FA+Y+FART+T
(4) T+F+ ARG+ T
Options:-

=1, Option ID :- 1077,
« 2, Option ID :- 1078,
« 3, Option ID :- 1079,

=« 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Subject : ENGLISH_Q121-Q140_PRT22FEBSH2

Question ID:- 271

Read the passage given below and answer the question that follow :

It is claimed that apart from us, only chimpanzees and ants go to war. A student studying
the Ridge monkeys, years ago, told me that she had identified seven distinct groups, which had
their own territories, the sovereignty of which was sacrosanct. And, yes, occasionally one group
might raid the territory of another with the idea of seizing it.

During one evening walk, years ago, I saw this in action - and it was blood-curdling. My
path ran through a section of the Ridge, on one side of which the land sloped upwards into what
I had dubbed the ‘wild section’, which had been left to its own devices. On the other side of the
path was the landscaped section, with its ornamental plants, park, benches etc. Here, a group of
monkeys were feeding quietly.

Suddenly, from the hillside, an avalanche of simians charged down screaming with rage:
they swarmed across the path in a torrent and set themselves upon the feeding group, which,
shrieking and panicking, fled incontinently in every direction. Caught in the melee, I could only
stand still until the chaos had died down.

‘An avalanche of monkeys’.
Which figure of speech is used here ?

(1) Simile

(2) Metaphor

(3) Metonymy

(4) Personification

Options:-

=1, Option ID :- 1081,
= 2, Option ID :- 1082,
« 3, Option ID :- 1083,

= 4, Option ID :- 1084,
Answer Given:- 4, Option ID : -1084

Question ID:- 272
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Read the passage given below and answer the question that follow :

It is claimed that apart from us, only chimpanzees and ants go to war. A student studying
the Ridge monkeys, years ago, told me that she had identified seven distinct groups, which had
their own territories, the sovereignty of which was sacrosanct. And, yes, occasionally one group
might raid the territory of another with the idea of seizing it.

During one evening walk, years ago, I saw this in action - and it was blood-curdling. My
path ran through a section of the Ridge, on one side of which the land sloped upwards into what
I had dubbed the ‘wild section’, which had been left to its own devices. On the other side of the
path was the landscaped section, with its ornamental plants, park, benches etc. Here, a group of
monkeys were feeding quietly.

Suddenly, from the hillside, an avalanche of simians charged down screaming with rage:
they swarmed across the path in a torrent and set themselves upon the feeding group, which,
shrieking and panicking, fled incontinently in every direction. Caught in the melee, I could only
stand still until the chaos had died down.

According to a popular belief which three species are highly territorial ?
(1) tigers, chimpanzees and bulls

(2) men, ants and chimpanzees

(3) men, bulls and ants

(4) lions, bulls and chimpanzees.

Ny

Options:-

=1, Option ID :- 1085,
= 2, Option ID :- 1086,
= 3, Option ID :- 1087,

=« 4, Option ID :- 1088,
Answer Given:- 2, Option ID : -1086

Question ID:- 273

Read the passage given below and answer the question that follow :

It is claimed that apart from us, only chimpanzees and ants go to war. A student studying
the Ridge monkeys, years ago, told me that she had identified seven distinct groups, which had
their own territories, the sovereignty of which was sacrosanct. And, yes, occasionally one group
might raid the territory of another with the idea of seizing it.

During one evening walk, years ago, I saw this in action - and it was blood-curdling. My
path ran through a section of the Ridge, on one side of which the land sloped upwards into what
I had dubbed the ‘wild section’, which had been left to its own devices. On the other side of the
path was the landscaped section, with its ornamental plants, park, benches etc. Here, a group of
monkeys were feeding quietly.

Suddenly, from the hillside, an avalanche of simians charged down screaming with rage:
they swarmed across the path in a torrent and set themselves upon the feeding group, which,
shrieking and panicking, fled incontinently in every direction. Caught in the melee, I could only
stand still until the chaos had died down.

The group of monkeys descended from the hillside as
(1) they also wanted to sit on the park benches.

(2) there was more food available downhill.

(3) they liked ornamental plants.

(4) they wanted to increase their territory.
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Options:-

=1, Option ID :- 1089,
= 2, Option ID :- 1090,
« 3, Option ID :- 1091,

= 4, Option ID :- 1092,
Answer Given:- 2, Option ID : -1090

Question ID:- 274

Read the passage given below and answer the question that follow :

It is claimed that apart from us, only chimpanzees and ants go to war. A student studying
the Ridge monkeys, years ago, told me that she had identified seven distinct groups, which had
their own territories, the sovereignty of which was sacrosanct. And, yes, occasionally one group
might raid the territory of another with the idea of seizing it.

During one evening walk, years ago, I saw this in action - and it was blood-curdling. My
path ran through a section of the Ridge, on one side of which the land sloped upwards into what
I had dubbed the ‘wild section’, which had been left to its own devices. On the other side of the
path was the landscaped section, with its ornamental plants, park, benches etc. Here, a group of
monkeys were feeding quietly.

Suddenly, from the hillside, an avalanche of simians charged down screaming with rage:
they swarmed across the path in a torrent and set themselves upon the feeding group, which,
shrieking and panicking, fled incontinently in every direction. Caught in the melee, I could only
stand still until the chaos had died down.

Where did the student find monkeys fighting for territory ?
(1) Inadeep forest

(2) In a forestreserve
(3) In the Ridge
(4) In a national park

Options:-

«1, Option ID :- 1093,
= 2, Option ID :- 1094,
« 3, Option ID :- 1095,

= 4, Option ID :- 1096,
Answer Given:- 3, Option ID : -1095

Question ID:- 275
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Read the passage given below and answer the question that follow :

It is claimed that apart from us, only chimpanzees and ants go to war. A student studying
the Ridge monkeys, years ago, told me that she had identified seven distinct groups, which had
their own territories, the sovereignty of which was sacrosanct. And, yes, occasionally one group
might raid the territory of another with the idea of seizing it.

During one evening walk, years ago, I saw this in action - and it was blood-curdling. My
path ran through a section of the Ridge, on one side of which the land sloped upwards into what
I had dubbed the ‘wild section’, which had been left to its own devices. On the other side of the
path was the landscaped section, with its ornamental plants, park, benches etc. Here, a group of
monkeys were feeding quietly.

Suddenly, from the hillside, an avalanche of simians charged down screaming with rage:
they swarmed across the path in a torrent and set themselves upon the feeding group, which,
shrieking and panicking, fled incontinently in every direction. Caught in the melee, I could only
stand still until the chaos had died down.

‘... the sovereignty of which was sacrosanct’.

The underlined word means the same as :
(1) sacred

(2) unholy

(3) appropriate

(4) distinct
Options:-

=1, Option ID :- 1097,
= 2, Option ID :- 1098,
« 3, Option ID :- 1099,

=« 4, Option ID :- 1100,
Answer Given:- 4, Option ID : -1100

Question ID:- 276
Identify the part of speech of the underlined word in the following sentence :

A civilised man aims at much more than his physical needs.

(1) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

=1, Option ID :- 1101,
= 2, Option ID :- 1102,
« 3, Option ID :- 1103,

=« 4, Option ID :- 1104,
Answer Given:- 3, Option ID : -1103

Question ID:- 277
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Identify the part of speech of the underlined word in the following sentence :

In the past, man’s worst enemy was nature.

(1) Noun

(2) Pronoun

(3) Interjection

(4) Conjunction
Options:-

«1, Option ID :- 1105,
« 2, Option ID :- 1106,
= 3, Option ID :- 1107,

= 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105

Question ID:- 278

Choose the options in which the following word/phrase have been rearranged to form correct

sentence :

(A) towards facts ?

(B) the attitude of the
(C) what will be

(D) citizen of the future.
(1) (D), (B), (), (A)

(2)  (©), (B), (D), (A)

(3)  (A) (B), (D), (O

(4)  (B) (©), (D) (A)
Options:-

=1, Option ID :- 1109,
= 2, Option ID :- 1110,
= 3, Option ID :- 1111,

= 4, Option ID :- 1112,
Answer Given:- 2, Option ID : -1110

Question ID:- 279
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Choose the options in which the following word/phrase have been rearranged to form correct

sentence

(A) even

(B) discipline is important
(C) in the narrow sphere
(D) of domestic life.

Options:-

=1, Option ID :- 1113,
= 2, Option ID :- 1114,
= 3, Option ID :- 1115,

= 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113

GET IT ON
Google Play

Question ID:- 280

Identify the form of tense in the following sentence :

Ram has not been to school today.
(1) Simple Present

(2) Present Perfect

(3) Present Perfect continuous

(

e

)  Present continuous

Options:-

=1, Option ID :- 1117,
= 2, Option ID :- 1118,
=« 3, Option ID :- 1119,

= 4, Option ID :- 1120,
Answer Given:- 3, Option ID : -1119

Question ID:- 281

Identify the form of tense in the following sentence :

It will be raining today.
(1) Simple Future

(2) Future Perfect

(3) Future Continuous
(

4) Present Continuous

Options:-
=1, Option ID :- 1121,
= 2, Option ID :- 1122,
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=« 3, Option ID :- 1123,

= 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question ID:- 282

Which word means the same as the one given below ?

Solemn

(1) giddy

(2) silly

(3) dignified

(4) handsome
Options:-

=1, Option ID :- 1125,
= 2, Option ID :- 1126,
= 3, Option ID :- 1127,

= 4, Option ID :- 1128,
Answer Given:- 2, Option ID : -1126

Question ID:- 283

Choose the word which is opposite in meaning to the one given below :

Flimsy

(1) Substantial

(2) Wise

(3) Thin

(4) True
Options:-

=1, Option ID :- 1129,
= 2, Option ID :- 1130,
« 3, Option ID :- 1131,

= 4, Option ID :- 1132,
Answer Given:- 4, Option ID : -1132

Question ID:- 284

Choose the option in which VOICE in the following sentence has been correctly changed.
The thief has been caught.

(1) We had caught the thief.

(2) The police had caught the thief.
(3) The police has caught the thief.
(4) Public caught the thief.

Options:-

=1, Option ID :- 1133,
= 2, Option ID :- 1134,
= 3, Option ID :- 1135,
= 4, Option ID :- 1136,
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Answer Given:- 2, Option ID : -1134

Question ID:- 285

Choose the option in which the Narration of the following sentence has been correctly
changed :

“I am feeling sleepy now,” Ram said to Rita.

(1) Ram told Rita that he is feeling sleepy now.

(2) Ram told Rita that he was feeling sleepy then.

(3) Ram told Rita that he was sleeping then.

(4) Ram informed Rita that he would sleep then.
Options:-

=1, Option ID :- 1137,
= 2, Option ID :- 1138,
= 3, Option ID :- 1139,

= 4, Option ID :- 1140,
Answer Given:- 2, Option ID : -1138

Question ID:- 286

Choose the option in which the Narration of the following sentence has been correctly
changed :

Kavita said, “Where are you going, Karan ?”
(1) Kavita asked Karan where was he going.

(2) Kavita asked Karan where he was going ?

(3) Kavita asked from Karan where are you going ?

(4) Kavita asked Karan where he was going,
Options:-

«1, Option ID :- 1141,
= 2, Option ID :- 1142,
= 3, Option ID :- 1143,

=« 4, Option ID :- 1144,
Answer Given:- 1, Option ID : -1141

Question ID:- 287
Identify the part in the following sentence which has an error.

If 1 fail in this I shall give the next test.
(a) (b) (©) (d)

a

b

c

d

1

e S

3
4

— e — —
J
e

)
)
)
)

— e
e

Options:-
=1, Option ID :- 1145,
= 2, Option ID :- 1146,
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=« 3, Option ID :- 1147,

= 4, Option ID :- 1148,
Answer Given:- 3, Option ID : -1147

Question ID:- 288

Identify the part in the following sentence which has an error.

The two first ~ columns of the newspaper are badly printed.

(a) (b) (©) (d)
(1) (a)
(2 (b)
3) (o)
(4) (4
Options:-

=1, Option ID :- 1149,
= 2, Option ID :- 1150,
= 3, Option ID :- 1151,

« 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289

Fill in the blank in the following sentence with appropriate preposition :

I cannot call the events which happened long time back.
(1) on

(2 up

(3) wupon

(4) in

Options:-

=1, Option ID :- 1153,
= 2, Option ID :- 1154,
« 3, Option ID :- 1155,

= 4, Option ID :- 1156,
Answer Given:- 3, Option ID : -1155

Question ID:- 290

Fill in the blank in the following sentence with appropriate preposition :

This mango tree is going to bring good fruit.
(1) out

(2) in

(3) forth

(49) wup
Options:-

=1, Option ID :- 1157,
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=« 2, Option ID :- 1158,

=« 3, Option ID :- 1159,

= 4, Option ID :- 1160,
Answer Given:- 1, Option ID : -1157

Subject : MATHS_Q141-Q160_PRT22FEBSH2

Question ID:- 291

The number 8*461 is divisible by 11. Then * stands for :

1) 5
(2) 6
3) 7
(4) 8

T 8461, T0 B9 H 11§ fawfom € St €1 = A €

(1) 5
2) 6
(3 7
(4) 8
Options:-

«1, Option ID :- 1161,
= 2, Option ID :- 1162,
= 3, Option ID :- 1163,

= 4, Option ID :- 1164,
Answer Given:- 3, Option ID : -1163

Question ID:- 292

The difference between the largest and the smallest 5-digit numbers using different digits is :

(1) 89999
(2) 88531
(3) 88888
(4) 89998

17 =ieh] =1 WART T T W S U9 i arell agl 9 99 9 S1e § Sl Hem i Hd E

(1) 89999
(2) 88531
(3) 88888
(4) 89998
Options:-

=1, Option ID :- 1165,
= 2, Option ID :- 1166,
« 3, Option ID :- 1167,
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= 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165

Question ID:- 293

The successor of a number is related to the predecessor in some way. Write the missing number in
the given pattern :

3,5,9, 17, 33, 65, ,
(1) 129, 257

(2) 98, 135

(3) 72,133

(4) 153, 561

T HeN &1 STad ad geadt o § Rt o @ wefyd §1 el @ e § € fagw dem fafau -

3, 9,9, 17, 35, 65, ,
(1) 129, 257

(2) 98,135

@) 72,133

(4) 153, 561

Options:-

=1, Option ID :- 1169,
= 2, Option ID :- 1170,
« 3, Option ID :- 1171,

= 4, Option ID :- 1172,
Answer Given:- 1, Option ID : -1169

Question ID:- 294

Which digit will come in the place of * in the following multiplication ?

(139) x (9*5) = 128575
() 1
2 2
3) 3
4) 7

et TUEe B+ 3 T X ShiA 91 S ST ?
(139) x (9%5) =128575

1 1
2 2
(3) 3
(4 7
Options:-

=1, Option ID :- 1173,
= 2, Option ID :- 1174,
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=« 3, Option ID :- 1175,

= 4, Option ID :- 1176,
Answer Given:- 2, Option ID : -1174

Question ID:- 295

Side face of a cuboid is a square of area 49 cm? and the longer edge of the four rectangular faces is
of length 16 cm. The area of each rectangular face (in cm?) is :

(1) 65
(2) 100
3) 112
(4) 188

TF T 1 TF IE ok SR ¢, e 89wt 49 em? § SR 9R STHATeR etk & 98 R
THEE 16 cm €1 TS SRR Heldh ol % (cm?H) €

(1) 65
(2) 100
(3 112
(4) 188

Options:-

«1, Option ID :- 1177,
« 2, Option ID :- 1178,
« 3, Option ID :- 1179,

= 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

The product of 999 and 9999 is :

(1) 999999

(2) 999001

(3) 9989001

(4) 899991

999 3R 9999 T TUAHT ¥ :
(1) 999999

(2) 999001

(3) 9989001

(4) 899991

Options:-

=1, Option ID :- 1181,
= 2, Option ID :- 1182,
= 3, Option ID :- 1183,
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=« 4, Option ID :- 1184,
Answer Given:- 3, Option ID : -1183

Question ID:- 297

The sum of the digits of a four digit number is subtracted from the number. The resulting number
is always divisible by :

() 2
2 5
(3) 8
4) 9

Topdlt |m ofeRl aTell e § 36 3l & 40 "o 9 Rt Hen wee fawnfsy gt &

(1) 29I
(2) 5¥I
(3) 8dI
(4 9HI
Options:-

=1, Option ID :- 1185,
= 2, Option ID :- 1186,
= 3, Option ID :- 1187,

= 4, Option ID :- 1188,
Answer Given:- 4, Option ID : -1188

Question ID:- 298

The smallest 4-digits number exactly divisible by 8, 10 and 12 is :

(1) 1000
(2) 1040
(3) 1080
(4) 1200

4 - 3wl w1 BT Y A gE S8, 10 2 12§ fawifed gt &, # -

(1) 1000
(2) 1040
(3) 1080
(4) 1200
Options:-

=1, Option ID :- 1189,
= 2, Option ID :- 1190,
= 3, Option ID :- 1191,

= 4, Option ID :- 1192,
Answer Given:- 3, Option ID : -1191
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Question ID:- 299

In the product of first ten prime numbers the digit in the unit place is :

(1) odd
(2) even
3) 0
4 1

Tl TH SIS HEAell % UAEA H S o F W

(1) Toum Hemn &rf

(2) 9 & B |

(3) O®AMI

(4) 12
Options:-

=1, Option ID :- 1193,
= 2, Option ID :- 1194,
= 3, Option ID :- 1195,

= 4, Option ID :- 1196,
Answer Given:- 1, Option ID : -1193

Question ID:- 300

A room is 4 m long and 3 m wide. Its floor is to be covered with rech,mglﬂar tiles of size 20 cm by
15 em. The total cost of the tiles at the rate of I 3.50 per tile is :

(1) T 1400
(2) T 1200
(3) % 1000
(4) T 900

TS HH 4 m T3 997 3 m =8l 81 9 & B9 W 20 cm x 15 em fomqmsfi #01 2@ e 81 T 3.50 9fd

TET P Y TR I H A A E
(1) < 1400
(2) T 1200
(3) ¥ 1000
(4) T 900
Options:-

=1, Option ID :- 1197,
« 2, Option ID :- 1198,
= 3, Option ID :- 1199,

=« 4, Option ID :- 1200,
Answer Given:- 1, Option ID : -1197

Question ID:- 301
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If the length of a rectangle is increased by 1 times and the width is decreased by % times, the area

W

of the rectangle is reduced by time.
G
@ 3
® 3
@ 3

uﬁ@%ﬁﬁﬁé%ﬁﬂ@ﬁﬁﬁﬁ%ﬁg@ %Wﬁﬁﬁﬁ,ﬁi%ﬂ@ﬂwfﬁﬁﬁm'@

ST ?
(1) %
@
® 3
Ol
Options:-

=1, Option ID :- 1201,
= 2, Option ID :- 1202,
= 3, Option ID :- 1203,

= 4, Option ID :- 1204,
Answer Given:- 3, Option ID : -1203

Question ID:- 302
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The number of triangle in the given figure are :

10
12

— e e~
hJ

— e e
=]

g TS seRfa H Brsi & 9em ©
(1) 4

(2) 8

(3) 10

(4) 12
Options:-

=1, Option ID :- 1205,
= 2, Option ID :- 1206,
= 3, Option ID :- 1207,

= 4, Option ID :- 1208,
Answer Given:- 4, Option ID : -1208

Question ID:- 303

A toffee costs ¥ 1 each. The shopkeeper gives 1 free toffee against 3 wrappers. The number of
toffees which can be purchased with I 27 are :

(1) 27
2) 36
(3) 40
(4) 44
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W ZRIT 1 I ATl & | SRR 2%l o 3 YU & 918cl Uk 21! g9 H odl 81 T 27 § @iisl 511 | arel
2Rl i FE©

(1) 27
(2) 36
(3) 40
(4) 44
Options:-

=1, Option ID :- 1209,
= 2, Option ID :- 1210,
« 3, Option ID :- 1211,

= 4, Option ID :- 1212,
Answer Given:- 3, Option ID : -1211

Question ID:- 304

The number of bottles of 375 mL which can be filled from a can containing 21 litre of oil, is :

(1) 75
2) 70
(3) 66
(4) 56

T = § 21 fet 9 81 375 mL & I Sae, S 9 90 9 98 S g § © -

(1) 75
(2) 70
(3) 66
(4) 56
Options:-

=1, Option ID :- 1213,
= 2, Option ID :- 1214,
= 3, Option ID :- 1215,

= 4, Option ID :- 1216,
Answer Given:- 4, Option ID : -1216

Question ID:- 305

25 mg of a medicine is expressed in grams as :

() 25g

(2) 025¢g
(3) 0.025 g
(4) 0.0025 g
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)

25 mg TS I I H TH TR K (a1 S &

(1) 25g
2) 025¢g
(3) 0.025 g
(4) 0.0025 g
Options:-

=1, Option ID :- 1217,
= 2, Option ID :- 1218,
« 3, Option ID :- 1219,

= 4, Option ID :- 1220,
Answer Given:- 3, Option ID : -1219

Question ID:- 306

Yogesh bought 20 bunches of 8 flowers each for T 320. He sold each flower for T 3. On seﬂing all
flowers, his gain is :

(1) T 100
(2) T 150
(3) 160
(4) %200

RIS A 8 Fedl aTel 20 =9 T 320 § Wils | 36 T 3 I X 8 ufd et i o= el el sE WO ey
®:

(1) <100
(2) < 150
(3) T 160
(4) T 200
Options:-

=1, Option ID :- 1221,
= 2, Option ID :- 1222,
= 3, Option ID :- 1223,

= 4, Option ID :- 1224,
Answer Given:- 3, Option ID : -1223

Question ID:- 307

Amit joined his office on 21st August 1997 and retired on 31%* March 2022. How long did he work
in the office ?

(1) 25 yrs 7 months 10 days
(2) 24 yrs 7 months 10 days
(3) 24 yrs 5 months 10 days
(4) 25 yrs 5 months 10 days
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A A 21 3T 1997 &1 SR H el T IR foran 3iR 31 |r€, 2022 1 Yanf-gd & 71 39 7
el T wHa ATEH H Fr T ?

(1) 253" 7 78H 10 &=
(2) 24397 7EH 10 faA
(3) 24345 wEA 10 f&A
(4) 253¥ 5w 10 &

Options:-

=1, Option ID :- 1225,
= 2, Option ID :- 1226,
= 3, Option ID :- 1227,

= 4, Option ID :- 1228,
Answer Given:- 2, Option ID : -1226

Question ID:- 308

Area of a rectangular hall is 154 square metres. If the length is 14 metre, the perimeter of hall is :

(1) 11m
(2) 25m
(3) 50m
(4) 60m

Ush AR Bid 1 &5 154 971 12X 8, dfe gfd i e 14 92 8 91, 81 &1 9™ 2

(1) 11 HieX
(2) 25 HX
(3) 50 HieX
(4) 60 HIX
Options:-

=1, Option ID :- 1229,
= 2, Option ID :- 1230,
= 3, Option ID :- 1231,

= 4, Option ID :- 1232,
Answer Given:- 3, Option ID : -1231

Question ID:- 309

The sum of 1-2+3—4+5—6+7—-8+ __ _ _ _ +151 is :
(1) 72
2) 75
3) 76
@) 77
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)

1= F—d#b5—=6+7=8+ +151 %l A T I IS Bl © ¢
1) 72
(2) 75
3) 76
(4) 77
Options:-

=1, Option ID :- 1233,
= 2, Option ID :- 1234,
« 3, Option ID :- 1235,

= 4, Option ID :- 1236,
Answer Given:- 3, Option ID : -1235

Question ID:- 310

I go to school which is 4 km away from my house at the speed of 12 km/hr and return home at the
speed of 20 km/hr. What is the average speed ?

(1) 15 km/hr
(2) 16 km/hr

(3) 16% km/hr

(4) 18 km/hr

# faeme™ SR F 4 km 1 g8 W §, 12 km/he &1 7fd F ST § 9 fownerd ¥ w1 20 km/he & A |
o &ar g | AL ofrea ifd = g2

(1) 15 km/hr

(2) 16 km/hr

(3) 16 % km/hr
(4) 18 km/hr

Options:-

=1, Option ID :- 1237,
= 2, Option ID :- 1238,
« 3, Option ID :- 1239,

= 4, Option ID :- 1240,
Answer Given:- 1, Option ID : -1237

Subject : EVS_Q161-Q180_PRT22FEBSH2

Question ID:- 311
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In the context of formation of Petroleum which of the following statements are true ?

GET IT ON
Google Play

(A)
(B)

Petroleum is produced from the organisms living in the sea.

Dead bodies of organisms living in the sea get deposited at the bottom of the sea and get

https://kvsexam22feb23s2.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=220412602...

covered with layers of sand and clay.

(C) Over millions of years, absence of air, low temperature and low pressure transformed the
dead organisms into petroleum and natural gas.

(D) Over millions of years, absence of air, high temperature and high pressure transformed the
dead organisms into petroleum and natural gas.

(L) (A) (B). (O
(2 (A) (B), (D)
(3 (B), (©), (D)
(4 (&), ©), D)

Y2ifererm & frmio & ey ¥, 7 § § SF-9 e vl ¥ 2

(A) e w1 faio gz § A A S|l 3 e R

(B) YAl % Hd YRR THg % U H S STH 1Y SR R @ aen et 1 a8l gru g |

(C) el Fuf |, arg w1 exufefa, fr= amg it fret <@ | ga i R Adfeem o wefas T

gftafdd = fean

(D) el adl 4§, arg o rgufefd, 39 a ok 3= <@ | g4 Ssidl 1 Y2ifaem i yikfaes 9 # giafda
= fear |

(D) (A) (B)., (©

(2) (A) (B), (D)

(3) (B), (©), (D)

(4) (A) (©), (D)

Options:-

=1, Option ID :- 1241,
= 2, Option ID :- 1242,
= 3, Option ID :- 1243,

= 4, Option ID :- 1244,
Answer Given:- 1, Option ID : -1241

Question ID:- 312

Given below are two statements. One of them is labeled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of code given below :

Assertion (A) : Nylon became very popular for making clothes.

Reason (R) : Nylon fibre was strong, elastic and light. It was lustrous and easy to wash.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

77189
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T WE I H FIH HL )

(2)
(3) (A) TE & T (R) T4 E |
(4) (A) TETd €, T (R) WeEl €1

Options:-

=1, Option ID :- 1245,
= 2, Option ID :- 1246,
= 3, Option ID :- 1247,

= 4, Option ID :- 1248,
Answer Given:- 1, Option ID : -1245

=1 <1 weed Tou U E | U 1 AfERe (A) 3R SE I RROT (R) el T | fRu e e w5 ger

ATYHYT (A): e, US| ok AT 7d, =g T=ferd g
®RUT(R) : ISl @I Yae, Todred] S goehl of | 98 IHehicn S goid § g9 A1)
(1) (A) 3T (R) S T& €, 3R (R), (A) &I HEl =A1@0 L 5

(A) ST (R) 91 | €, W (R), (A) i H& =@ & 7 |

GET IT ON
Google Play

Question ID:- 313

Match the following-

Plant Disease Micro-organism
(a) Citrus canker (i) Fungi
(b) Rust of wheat (ii) Bacteria
(c) Yellow vein (iii) Virus
mosaic of okra(Bhindi)
Code:
(1) (@-@) (b)-(id), (c)-(iii)
(2 (@)-(i), (b)-(), (c)-(iii)
(3)  (a)-(i), (b)-(), ()-()
(4)  (a)-(), (b)-@), (c)-(ii)
Frefefed = faem =Y
Iy AT qersira
(@) g (i) FEH
(b) T (i) ]
(c) Tuet =i drer di (iii) aramoy
e :
(D @-0), (b)), (c)-(iid)
(2 (@-), (b)), ()-(iii)
(3)  (a)-(i), (b)~(i), (c)-(1)
4 (@-G), (b)-), (©)-(i)
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Options:-

=1, Option ID :- 1249,
= 2, Option ID :- 1250,
« 3, Option ID :- 1251,

« 4, Option ID :- 1252,
Answer Given:- 4, Option ID : -1252

Question ID:- 314

Match the following-

Disease Causative Micro-organism

(a) Influenza (i) Protozoa
(b) Dysentery (ii) Bacteria
(c) Typhoid (i) Virus
1) (a)-(id), (b)-@), (c)-(i)
(2)  (@-), (b)-(ii), (c)~(iii)
(3)  (@)-(i), (b)-(iid), (0)-(1)
(4)  (2)-(iti), (b)-(ii), (o)-(1)
fr=fafed =1 fuer =Y

T T ehTTeh Geusia
(2) FRILST () ST
(b) efaEr (i) SfraT
(€) CIIFRIRS (i) feromy
(1) (@), (b)-@), (€)-Gi)
(2)  (@-(1), (b)-(id), (c)-(iii)
() (@-), (b)-(i), (©)-0)
(4)  (a)-(), (b)-(i), (c)-(1)
Options:-

=1, Option ID :- 1253,
= 2, Option ID :- 1254,
= 3, Option ID :- 1255,

= 4, Option ID :- 1256,
Answer Given:- 4, Option ID : -1256

Question ID:- 315
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Below are two statements. Choose the correct answer from the given options-

Statement (I) : Soil supplies mineral nutrients to the crop plants.

Statement (II) : Mineral nutrients are essential for the growth of plants only in the initial stage.
(1) Statement I and II both are true.

(2) Statement I and II both are false.

(3) Statement I is true but Statement 11 is false.

(4) Statement I is false but Statement II is true.

= &1 s feu e 1 fou gu fosredi § & W@ 3@t o =99 & |

HYF (I) . Taed wua 1 afv e yem # B

HYA (I1) : Tt § dise o ac a6t et 3fg & fau & srevas g
(1) & (1) 2R (1) S =2 €1

(2) e (T) SR (I0) S e 2

(3) e (I) TEl §, I YA (1I) Tod 7|

(4) A (1) TEd 8, T FYUA (1) HE B
Options:-

=1, Option ID :- 1257,
= 2, Option ID :- 1258,
=« 3, Option ID :- 1259,

= 4, Option ID :- 1260,
Answer Given:- 3, Option ID : -1259

Question ID:- 316

The process of fusion of male and female gamete is called :
(1) Fertlisation

(2) Pollination
(3) Reproduction
(4) Seed formation

T SR HIE] TTHE % A Il YohH FEAM ¢ -

(1) Fai=m

(2) T

(3) A

(4) @ISt
Options:-

=1, Option ID :- 1261,
= 2, Option ID :- 1262,
= 3, Option ID :- 1263,
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= 4, Option ID :- 1264,
Answer Given:- 1, Option ID : -1261

Question ID:- 317

Below are two statements. Choose the correct answer from the given options.
Statement (I) : All living organisms respire to get energy from food.
Statement (II) : Respiration can occur only in the presence of oxygen.

(1) Both Statement I and Statement Il are true.

(2) Both Statement I and Statement II are false.

(3) Statement I is true but Statement II is false.

(4) Statement I is false but Statement II is true.

= &1 oA feu e €1 fou gu fammedl § 9 981 3 =1 997 L |

WY (I) : T STET BT IS | el UG 6 o a9 H ARl el # |
A (II) : YIEA Haa siiadied st 3ufeafd o & Wk ¢ |

(1) e (T) TR A (1) SHT & 21

(2) A (I) R FoA (11) TH T 2

(3) e (I) TEl &, I A (I1) T §

(4) A (I) o B, T FUA (1) T 7|

Options:-

«1, Option ID :- 1265,

« 2, Option ID :- 1266,

= 3, Option ID :- 1267,

= 4, Option ID :- 1268,
Answer Given:- 1, Option ID : -1265

Question ID:- 318

Decreased wind speed is accompanied by :
(I) reduced air pressure.

(2) increased air pressure.
(3) consistent air pressure.
(4) slight increase in air pressure followed by reduction in air pressure.
9o 1A FH B 9
(1) = 1 S FH & S |
(2) Y S WG S |
(3) A M R WA Tl
(4) 9T T ATST AT & R A 8 S g
Options:-

=1, Option ID :- 1269,
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= 2, Option ID :- 1270,
= 3, Option ID :- 1271,

= 4, Option ID :- 1272,
Answer Given:- 1, Option ID : -1269

Question ID:- 319

Fat is completely digested in the :
(I) Stomach

(2) Mouth

(3) Small Intestine

(4) Large Intestine

= o e g fag s dm E, ww E -
(1) SHEEA

(2) 494

(3) &&H

(4) Te=A
Options:-

=1, Option ID :- 1273,
= 2, Option ID :- 1274,
= 3, Option ID :- 1275,

= 4, Option ID :- 1276,
Answer Given:- 4, Option ID : -1276

Question ID:- 320

Cuscuta is an example of :

(1) Autotroph
(2) Parasite

(3) Saprotroph
(4) Host

(1) Tt =6
(2) TTSHET
(3) HdsiEl =
(4) ORIl H

Options:-

.1, Option ID :- 1277,
= 2, Option ID :- 1278,
= 3, Option ID :- 1279,
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= 4, Option ID :- 1280,
Answer Given:- 2, Option ID : -1278

Question ID:- 321

The tents in which the Changpa people live, are called as :
(1) Namgyal

(2) Rebo
(3) Lekha
(4) Pashmina House

T S o e AT 2d (dgei) 1 R A 8 g S g ?

(1) A=A

(2) W@

(3) i@

(4) TYHMAT =
Options:-

=1, Option ID :- 1281,
= 2, Option ID :- 1282,
= 3, Option ID :- 1283,

= 4, Option ID :- 1284,
Answer Given:- 2, Option ID : -1282

Question ID:- 322

Bachhendri Pal became the first Indian women and the fifth woman in the world, who laid steps
on the Mount Everest. She belongs to which state of India ?
(1) Sikkim

(2) Arunachal Pradesh
(3) Uttarakhand
(4) Himachal Pradesh

FHE! 9T YA ] Tgedl 3T TR F uiEar tH afeen o1 12, 9= vate W Fen @ 98 uRd & feg
T § gafyd 8 2

(1) Tafera

(2) STEOTHA Y

(3) THEE

(4) Teur=a wew
Options:-

=1, Option ID :- 1285,
= 2, Option ID :- 1286,
= 3, Option ID :- 1287,
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= 4, Option ID :- 1288,
Answer Given:- 2, Option ID : -1286

Question ID:- 323

Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason
(R). Choose the correct answer with the help of code given below :
Assertion (A) : In most of the birds, eyes are fixed and can not move.
Reason (R) : Most of the birds move their neck very often.
(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

9 & Ferer Tou 7 ¥ | U 1 AfeRe (A) SR TE I WO (R) el T § | feu T e i werm
T TE SR BT HL

ATURIT (A) : SR Ufegi it offe feer Ereft € o7 STeh! qell ¥| 78 Hed |
WROT (R) : SR &l 7991 e sigd e1f9ek feemd €1

(1) (A) 3T (R) SHT &2 €, 311 (R), (A) 1 HEl AT HI1 2 |

(2) (A) IR (R) 31 Tt &, Tg (R), (A) F1 Hel AW T8l 71 2 |

(3) (A) W& & Y (R) Tew T

(4 (A) TEd 8, R (R) T T

Options:-

=1, Option ID :- 1289,

= 2, Option ID :- 1290,

= 3, Option ID :- 1291,

= 4, Option ID :- 1292,
Answer Given:- 1, Option ID : -1289

Question ID:- 324

Which of the following birds makes its nest among the thorns of a cactus plant ?
(1) Indian Robin

(2) Common Hawk
(3) Weaver Bird
(4) Dove

Frafafeg § 9 F9-91 uslt Foed & Fial F &= =gl o1 i s g2

(1) gl @feam Ufem)
(2) = T (FHA )

(3) =felA fefean (s waf)
(4) e (29)
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Options:-
=1, Option ID :- 1293,
= 2, Option ID :- 1294,

= 3, Option ID :- 1295,

= 4, Option ID :- 1296,
Answer Given:- 4, Option ID : -1296

Question ID:- 325

In India, the time of laying eggs in Honeybees is:

(1) From the month of February to April

(2) From the month of June to August.

(3) From the month of July to October.

(4) From the month of October to December.

IR H, ATl % i 37 % FHT A €
(1) Ed q i OE

(2) S H S HE

(3) M § THRK HIE

(4) SR § fedsr O@
Options:-

=1, Option ID :- 1297,
= 2, Option ID :- 1298,
= 3, Option ID :- 1299,

= 4, Option ID :- 1300,
Answer Given:- 4, Option ID : -1300

Question ID:- 326

Below are two statements. One of them is Assertion (A) and the other is Reason (R). Choose the
correct answer from the given options :

Assertion (A) : Before starting a lesson, the children should be given an opportunity to observe
and understand the picture.

Reason (R) : If children are given an opportunity to observe and understand the pictures before
starting the lesson, it will develop the skills of picture reading in children.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the explanation of (A).

(3)  (A) is true but (R) is false.

(4)  (A) is false but (R) is true.
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92 &1 e feu u F ) us 1 tfieRe (A) 2R g S RRUT (R) el T | U T e w5 ger
T Y& I H T FL|

ATTRIT (A) : TS UG W Tael S= o1 =AM 9 T3 <@ i gugm =1 e fean st e |

®RUT(R) :  F=dl ol AfQ U8 Y8 9 Ugel fat <@ 31 §HEr o1 Hishl T e a1 37 a3 staeiia
=1 e fasmfaa

(1) (A) 3R (R) 31 981 €, 3R (R), (A) 7 W& =ren &g |
(2) (A) ¥R (R) &1 T €, W (R), (A) T G SAEA T FIAE
(3) (A) W& €, W (R) T T

(4) (A) T4 B, 94 (R) HEI 2|

i

Options:-

=1, Option ID :- 1301,
= 2, Option ID :- 1302,
= 3, Option ID :- 1303,

= 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327

Identify me-
I have poor eyesight but have excellent sense of smell, touch and taste.
(1) Dog
(2) Cat
(3) Spider
(4) Rat
1\1—5\?} g -
T S 1 A1 Y T G, T a1 TTE STell ST sed dig S 2 |
(H 2
(2) faeet
(3) RS
(4)
Options:-

=1, Option ID :- 1305,
= 2, Option ID :- 1306,
=« 3, Option ID :- 1307,

= 4, Option ID :- 1308,
Answer Given:- 4, Option ID : -1308

Question ID:- 328
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Which of the following is true about forests ?

(A) Itisa system comprising of various plants only.

(B) Forests keep on growing and changing but they cannot regenerate on their own.
(C) Forests are the life-line for the forest dwelling communities.

(1) (A) and (B)

(2) (B) and (Q)

(3) Only (A)

(4) Only (C)

g Fan § e 7?2

(A) =4 Faa fafs gedl |§ a9 0 3 81
(B) = gfg i ¥ oI uftafda & € wig 3 T erqen gstae 9 R "eRd |
(C) &3 &30 H a9 F a1t HYE/1 F1 Sie I 3ER J8H HLd 3 |

(1) (A) ¥R (B)
(2) (B) ¥R (C)
(3) ®IG (A)
(4 FFd (O)
Options:-

«1, Option ID :- 1309,
« 2, Option ID :- 1310,
« 3, Option ID :- 1311,

= 4, Option ID :- 1312,
Answer Given:- 4, Option ID : -1312

Question ID:- 329

The houses of Srinagar have the following qualities. Choose the correct option(s) from below :

(A) Big houses have beautiful carvings on the wood of the ceilings. These special designs are
called ‘khatamband’.

(B) Some old houses have special type of windows which come out of the wall. This is called
‘Dab’.

(C) The old houses of this area have features of being made only by brick and wood.
(1) Only (A)

(2) (A)and (B)

(3) (B)and (C)

(4)  (A), (B) and (C)
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AR % = fedmard Frefafaa €157 | et famew/fasmedt o =97 &+ :

(A) & ORI % el Hi B9 W AFS! FI YT TIHREN Bl ¢ 1 38 uF Ty fesme  wamse’ ¥
(B) T A T Y wf § - weleR faehEa S e S Sl o ¥ 15 e e B
(C) el % T =R’ ol WIfgad § - Had ¢ 31 Thel Fi fHemht o= |

) AT (A)

) (A) ¥R (B)
(3) (B) 3 ()
(4 (A), (B) #R (O

Il

N =

Options:-

=1, Option ID :- 1313,
= 2, Option ID :- 1314,
= 3, Option ID :- 1315,

= 4, Option ID :- 1316,
Answer Given:- 2, Option ID : -1314

Question ID:- 330

Following are some reasons for depletion in the water table. Choose the correct answer with the
help of given codes.

(A) Increase in population.

(B) Increase in industrial activities.
(€) Increase in agricultural activities.
(

D) Increase in the affected areas for seepage of water.

(1) (A) (B), (O
(2 (B), (©), (D)
(3)  (A) ©) D)
(4  (B) (A) (D)

2 i W % a8 % $ SR e T § ) f5u T e it Herra § Wl W = H|
(A) SHEn ¥ gfg

(B) ireifires wifafaferdi § afg

(C) iy nfafafersi § gfg

(D) <id o 7 & fog yifaq &9 9 afg

(1) (A) (B), (O
(2) (B), (©), (D)
3) (A), (©) (D)
(4)  (B), (A), (D)
Options:-

=1, Option ID :- 1317,

= 2, Option ID :- 1318,
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Google Play

= 3, Option ID :- 1319,

= 4, Option ID :- 1320,
Answer Given:- 4, Option ID : -1320
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